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# # 5570110721 : MAJOR CHEMICAL ENGINEERING
KEYWORDS: OFF-LINE ROBUST MPC/OUTPUT FEEDBACK CONTROL/LINEAR
INTERPOLATION

KORRAPAT YAIRIT: ROBUST CONSTRAINED OUTPUT FEEDBACK MODEL
PREDICTIVE CONTROL FOR QUADRUPLE TANK SYSTEM. ADVISOR: ASST.
PROF. SOORATHEP KHEAWHOM, Ph.D., 129 pp.

This research considers the problem of output feedback robust control
of polytopic uncertain discrete-time systems. The proposed algorithms solve off-
line the optimal control optimization problem to determine the state feedback
gain. The output feedback control law is parameterized as a function of estimated
state determined by current output measured. An appropriate estimator is
defined, and a sequence of feedback gains is computed. In addition, a sequence
of ellipsoidal invariant set associated with each feedback gain pre-computed is
then constructed. At each control iteration, the smallest ellipsoidal invariant set
containing the currently measured output is determined, a corresponding
feedback gain is implemented to the process. Further, the interpolation algorithm
is proposed to improve control performance. The feedback gain is determined by
maximizing the feedback gain with subjected to a set of constraints associated
with the current invariant set and the adjacent smaller invariant set. The
controller design is illustrated with a case study of quadruple tank system
formulated as a polytopic uncertain system. This system is a nonlinear multi-
variable system with input and output constraints. The system can operate in two
operating schemes that are minimum phase and non-minimum phase by ratio
adjustment of valvel and valve2. Liquid level of tankl and tank2 are controlled
by manipulating frequency of the electrical power supplied to each pump. The
results showed that the proposed algorithm can stabilize the system operated in

both operating schemes. Interpolation algorithm applied can improve a control

performance.
Department:  Chemical Engineering Student's Signature ...
Field of Study: Chemical Engineering Advisor's Signature ...

Academic Year: 2013
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Kothare uaganiy [1] Wthmgufideylunidssunldluniseonuuuimuauiiieyss fu
@I meeeszuy warUssanalilaymesudludlvieglususaunisuasndidadu(Linear
Matrix Inequalities) lneflidmaneiiosenuuuiimuauaungnistounduaniuy (State
feedback control law) f Frsiaaniviwietusivualiatiosfigavesileiduingl szasd
LuvanuNsaliaediga(minimized worst case objective function) aeldideuly
TYaIinvoiUsAUANKAAILUTAYYIUIDBN N1TATUANLTVINUNELUUTIADIAINULUY
paulall aziivszansnnlunismiuauAndNIsAIVANTYIUNBLUUIABIRULUUDaN Al
ilesnan mamuaNiBsvhuneuuuiassnmuluuseuladldiduusanie u nanaidy
uiagsaurasnsooAlidiiondinuaduUsufulunsmuauszuy uwiAiideideludu
natlumsfuusuUsmuaudanniinsmuauIBviusuuuiiassrmuluueelal

a [

fefunsmuaudehuiswuusiaesamusuuesulaislimanefuszuuiawavosaaily
nsmuauudadidny vliAsmsiammsmusudsihueuuuiiassamuluvessilad
91NUITEVRI Wan wazane [2] laiauin1smuaudavinughuudIasdnanuwuy
sowlat] Tnouvstunousonduzdnlvg ludiuusn srendendnnisvesnisadraaniues
NT99LERTNNLTLEUAIAU(AN asymptotically stable invariance ellipsoid) lngasnsiantu

a a a = P o = v Y] i & v A v
ENV]?\??W']EJV]Q'U{]L@EJ%JIUWL@EJ']LW@U?%ﬂULﬁﬂﬁliﬂqW%aﬂigUU mauﬂamnan%gmﬂﬂ’nwaﬁl%



Tumsmnduususu dauitaes awfunsmunddulsuunussulay Tasindduds
any u Hatu ndudmnusiudsuivnndeyaluduandaldsunilinounthi v
Iaaanlunisiwines uazanauddeaananlanssuieuUssansamnmsaiugusenin
NSAUANLTYINELUUTIBIRUKUUDRUlaY |Aa¥NITAIUANLEIIUIELUUTIABIAINY
wuueenlat wuhszAnininueanismunuiaetuuivssansamlndiAsstu uins
AUALBINgLUUTIaasAmukuUeeladausadIsansregIa luNsAIUAY

aem"l,iﬁmmE‘]’@l@fﬁmiﬁwmmimmuL%aﬁ’lmﬂuumﬁ”lammwmwuaaw%ﬁ%ﬂu
FuneumsAuamfulsUu auaddeves Bumroongsri WavAmdy [3] bALaueIs
UszanuA1dn 19818 v8iIAUANKUUTRUNG UTEN IR BN I TITTINAUNITAIVANLES
wewuuinasspamuiuveslaumelianuliviueulndlnle lnsiaue 3 Taouiu Loy
Fusn MWndnnsUszananenusmsdidniigadsiduusanned inndudeaduaindnly
Lo FilaoddnmsusznamsnsveevesiinmuauLuuloundu(State feedback gain)
iielilgmaniign 35Agaving TinsussannlasmiArAsninvesvesiinIuaNLUY
Jounduivhlienanuaanndouresdouluseeniusmsiudaltosiian anvia3is
WU R 2 waw 3 mdhTesvessmuamkuutounduTidwniuunn A 1 dua
shlsiulsfiaulaaunsagingandmnglfiiu Tnsfinismuaudsnuatiosniney uandle
Wisuifsunailunsduuemdnsmueevessmuauuuudoundunuinisi2ldinalunis
funudesniiisi 3

uenanilumsmueuszutlssnugeamnssdluanmadsiu wuinsaunsonsiy
AfulsanarnssuUwAdasie Tndeaniuusaniefilauasianugniosiuduiy
muwlugwenaiodietauas Jymandsznsimuiuie rudndoseuniedieindsenad

nsdsdauiianatnliananuduasedmaliiianansenudessuu Jadinswmuinis

[
v =

muauwuuUauNduAIFYYINYIBONTY 3INIUITETDY Wan wazauzd] laussyndldsa
Usganuiulsannmedudunisamuaudsiiunsuuuitassamunvuselal lasiii
Faneifalumsussiuaiosnmvsssyuunsdifissuuinisldfussnadnsanngsu
e

a A ¥ [

ludvesaddenineidesiunisussgndlddmiuaudainesuuiiasdunis
AuANsEAUTssYUUARY WU 91udeves Sukapradit [5] IHhiauenisuseyndldnig
muAudvhusLuTassuUAmudmiUsTUUBRd RN ine fiinsdasuudadluns
MUANTEUUATS 9113389849 Poontong [6] Idauenisuszgndlimauaundsinneuuy

dy L al v [ 3K a a v a [
AuUUiug U uanssaugUnlagldilanduideyluriaed fmuauiiainunguuuamny



vuitug s uadssauzluaniunsaliadenaaldlsiduteyluninied wagiaiuauigs
MugkuuAmuUUiug s uanssausluanunsalia e ngaldflandubteyluniasy 3

Asanlvieduusyansnsinavesndllagenadluiiainuluiuueu



a =
unn 3 VIC]UQV]'Nﬂ'ﬁﬂ'J‘UﬂIN

TunsruAunszUILN A TuiiBnIsmusmanvaeiideity Sdueidedls
WauensMUANIIgLUUTIassnmuLuueanladsuiuiU ssnaiuUsan 1y
lnein1suszendldnsussaaisnsnve1eveeianmuAukuUlounduseninaen g ueanses
Tnglimdnnsnsmendnsmensvessmuaunuudounduiifidmniiaauddsanmnsovinli

szuviianuatiesnm luiden 3.1 waz 3.2 szduiiugiunnsnisaivauiazimaiaig iy

o
)=

muandaiunldlunuide diwiided 3.3 asludiuszsifouisnisamuaudanuide

YNFUD

3.1 ngefn1sAuANBRigLUUINaR AL UUaaUlal

a

uanaluUInasslusEUUBLduTeinisildsuuasmunatlumeuvesaun1susnad

Y

AnuzsaunSi 1
x(k+1)=A(k)x(k)+ B(k)u(k)
y(k)=Cx(k)

[A(k) B(k)] €L (1)

o7 u(k)ER" x(k)ER" (k) € R” 1 JuAsudsusu dndsanniy wavdauds
Toyuaw1een ol Landl k mudsy wonanidussuuiitinuliviveudmnines s
nsassenveuartlibiuewdelndlnn (Polytope) Tu Tnsflenu Q unulwnveuivn
TnElnol faaunisd 2

Q=Cof{[4 B[4 B]..[4 B} (2)

lpg? Co vuneds ApuLIndaa (Convex hull) @4 [4, B ] WiUnLanvesntauLIn

Anuliwiuaulnalnm fagun



[4 B] [4A B]

L L 2 2

[4(k) B(k)]

[4 B]
J J
5UN 3. 1 wavaulwaanybiviuauwuulnalng

wazaINauURYRIRBUNNGER(Convex set) WU [4(k) BK)]E€EQ  fatiu

[4(k) B(k)] fpnuduiusivynsenvasenvauunlndlnnasaunisn 3
L L L
A=, ad,B=), aB.), a=10<a<I (3)
Tusguunisemuaraziinisnmuadymilunsaiunussuuduansauni el

min maxJ = (4)

u (k+ilk )L A Ck+i) B (k+i)IEQ

0

Tneft  J_ ()= [x(k+i| k) Ox(k+i| k) +u(k+i| b Rl k+il B)] (5)
lu (k+il)|Su_, i20, r=1,2,..n (6)
ly G+il) Sy, i20,s=12,.,n (7)

91naun1s (4) Wuaunisuwana e reanIsrmuANssUUAINENNIST (1) Liengn
AaUsusuarungnisteunavanius u(k+ilk)=Kk)x(k+i|k) a1l an gy
&l Y a A v PN Y Y o o Y Y] d'
npUsvasAnan1isiaenaaiiadesiian neldveuintadninveiususunuaunisn

(6) uwazdainnnvesmulsdyruvIeanauaun1sn (7) ludiusivazidenvesfendy

o

(%
0

Tagusgashnuann1sin (5) 1w axdunisiunsuazAiwingaiuusuiuauiiassesiia



otiud Tnefinninesastnutniiauanin1siaonNan1TRoUaNsIUaInNIEUIUN1sANLTouly
O>0 warrR>0

lurideiiazaulanisamunuisituneguuudassamulagyssendnguideylun

dennldlumseenuuudinuauiiosulseiuaiosnmussszuu lasuanaluaunislugy

¥
[

UYDIDANNTURINGLTUAU(Linear Matrix Inequalities, LMIs) [1] §3dl

max
u(kk)yQ Y
Subject to
1 x(k|k)
20, Q>0 (8)
x(k | k) 0
0 04 +Y'B 0'®” Y'R"
AQ+BY 0 0 0
J / 207]_1329 aL (9)
®0 0 yI 0
R"Y 0 0 yi
X v
) 20,X <u ,r=12,..n (10)
Y0 gy .
Z C(4Q0+BY)
T >0,Z <y s=12,..n (11)
(40+BY)'C 0 SNIVE

Tnedoulveaunisi (8) Wuaun1snldasnuundugamsss(invariant ellipsoid)Tauana
wavesikUsanznaulalunismivausruulagazUseiunsgidngaud wansdsainud
= ] = & Y = % fou o
g nvesseuy Tudweaunsi (9) 1umsuseiuatesnnvesssuumeileanduiaey
Lunifien daunltusaunisi (10) uansvaulundnfinvasiwlsan1isiazanngaaunisi (11)

IARUBULATIRATRIRILUTEIMUI08N TEasBuanITigataunsaAnwlanain(l]
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% a R
2aNdNA 1

9ana37NNIIAMUANITIINUIBLUUI RN U AU UaNsTauglugaunIsalade

ngalagldnsidudeylunifion

YUABUN 1: A x(k |k)

Yupoui 2: AMwine max ) AeldReuluaueaunisit (8) fs (11)  wazAuIuA
u(klk).y0.Y

K(k)=Y0"

Jupauil 3: diadmuususugamuinann u(k) = K(k)x(k) Jeudngssuuiidesnisaiun

TUPaUN 4: 4 1381 k+1 W k=& +1udindugdunoun 1

3.2 ngefn1sauANtitngwuudnassamuLuuaanlal

Tua3de709 Wan uazanz2] lalauen1sauamdainuIgwuuINaoInvuLuy
aaWiau%sJLLﬂQﬂWiQUU@uaaﬂLﬂu 2 d7u drunsniduduneulun1IAuIuA1sRsIvE18D4
) o @ v | a & v 1w
meuanwuuteunduinulilugiudeys wasdiunassdunsmunuuuusaulatilneSuesi
wUsan1aINIEULLaNhAmSnsveevasiimuanwuudaundunAwinl ludunouwsnin

IHefunednsveevassiimuauwuutounduiningausassuy

LY a R
2ANVINYU 2

3ana3fuN1IIAUANTYINNBLULTIa AU UUaan lauluTuRB NS A LIAAT AT
vgnevasiamuanwuudaunauiulilugiudaya

UABUT 1: MUUATIVIUAITRTIVEIEVBIRAUANKUUTBUNdUTIdaIn sAIaLAUL Ty
grudeya (N S1uim)
TUABUT 2: MUUAAIAILUTANIE x  ANUTINIUAIENTIVE18VBIRIMIVANLUUTDUNGUT

v o @ 2/
pansAaLnul) ()Cl WX e X )

YUADUA 3: 1A x A max ¥ agldeuluauannisit (8) fe (11) uae

u(kk).y, Q.Y ;

A K (H=ro " e v,0 'k avgninulilugiudeya

(%
Y

Yupawl 4: i1 i <N iden x laeiiteulvnueaunis |x ||;_‘ <IuaINaugiunoui 3
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’Lua’auﬁaaq%nazﬂa'ﬂaﬁqﬁfulﬂumsﬁw%’azgaiudaumﬂ%aﬁm'ﬁﬁwmmmé’mwmamaﬂ
Y} [y} @ 2 % ) 1 £y} v} a" Ly} LY}
mauauwuuteunduinublilugiudeyauainldlumsmuinadmiudsusunimanzau v

wUsANMEFNIALAANNTTUU Pudanasiumasalul

o/ a R
2anaIny 3

N13AUANLTNIULLUUTIABIAmMULUURaN lalsmAUTTUUNEN1Ea T

¥ T
1Y d

JUABUN 1: TnA1EIkUSTEN1IEINNTEUU X (K)

Puneuil 2: vndnsvesvesimuuLuulsundulay Avvaeuamteuly ||x|| . <1
TneFUATIREaUIN i = N linssueannisteuly Tinsiaeu 9 i =i—1aunseiia
gouFuaumMstouly uddldm K=K

Jupauil 3: diaiususu u(k) = K (k)x(k) oudngdszuuiineanisaiuny

TUPAUN 4: 4 1381 k+1 W &=k +1udindudiunoun 1

3.3 VQufN1IAUANIT I UIBLUUTIaeIauLUURanlaldien1sUszenAlY Ao
Uszanaiaulsan1asiasn15UssanuA dns1ve1g vaeRiauANLuulaundual

AYIUVIDBNTZNINUTATUL N TSI

1uizuumimmuquﬂauﬂé’um Feyeu1edv199n(Output feedback control) 2zl
miaaﬂqumimmmimmwmﬂu 2 du dui 1 Lﬁumiaaﬂqumsmmm%qﬁmw

wUUIIaaIAuLUUaNlall wazd1un 2 aziduniseaniuudiuszanadiwlsan1iz (4]

3.3.1 AUTTUIUAIAILUTENIIL

Rk +D= A0+ Bulk)+ L (y(k)—C8(k)) (12)

v
a v A

naun1si 12 JWuguuuuvesaunisialssanamulsaniedeldlumnuided lng

v

1 L fBA19MI1N159818V8IMIUTEIUAAINUTANIE WALAIMUT [4 B ] U198y

SzuuTian1izasdn (Steady state)

3.3.2 MIUszInAIInTIveNgvasiamuaNLuulaunduAdyy MU0 51
LYATUBINTIT
91N914IT8Y09 Bumroongsri kagAne [3] auamainn1su s amsnIIvgeues

mnuanLuulaunduiinysaniz(State feedback control) SEPINUTATULINTIS 3
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wadiadieiu Faidetaulalumelianisuszanuadnsveisvesitnuauievlaan
gnsveevesimuAnLuulaundunniian laeiuussendldiunisauauuuudeundy
AdyIu1een eldiulsanizainnisuszun () wiunislddudsanig (x) lagld

aun1s9 (12) Tunsuszanaen

min (k) (13)
Subject to
1 (4 + B K(P)NE(K)
>0,j=1,2,...L (14)
(4 + B K(PK)))i(k) N
(K(P&)E(k) )’
>0 (15)
K(P&)x(k), 1
0= p=1 (16)

a

A9R31V818389RIAUANLULTBUNAULINTER & 1381 k (K(P®K) @13158

q

Auralldann K(PKR)= POK +(1—PMIK,  Fadr Pk MurmaInauns (13)
meldRevlveauns (14) (16) Tnveaunsit (14) uanadeuluileussiiliisuusaneiign

ureAdaludiegneluniusmstindunisussduatiosninvesnisaiuau uay

2aun1s (15) wansdaulutadindususu

Qi_] _(A +B;/Ki+1 )TQi_l (A/ +B/Ki+| ) >09\v/.]9\v/l == 19’N_1 (17)

J

wonandlunisuseynalinisussunaaidnsivetevesdimunusuudaunauiy

[ ] e o A PN J = (3 a o 1 1%
@U’]L‘U‘Ll(?]’e)\‘iEJ’e]iJiULQE’JNI%W]M@ﬂSJﬂ'ﬁVI (17) ﬂaum%mmmmzqﬂmmﬂuﬂmnmﬂ@
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3.3.3 ganasfiulunisarunuideinuenuuitassasnunuuaanlaldessuuluy
n3alUsEEnAldAIUsENIUAILUTANIITLAENTTUTENIUAITNTI VI UDIRIATUAN KUY

[ 1

Uaundumndsyey1aiun9anIeninugngueansss

a

luszvunisauauuuutdaunduendyaiauieen(Output feedback control) agil
mseenuuumsmuanlasuenniseenuuuiiuzdn dwit 1uniseonuuudimug s
vhuneuuutassnsunuusenlal dudi2 szdumseenuuuiusssnaiudsane [4]
Tngdududesidanesiinlunismunuiinidulunsdiinisussgndldfussanauiuusang

WD USENULEDESNINYDITEUU

o/ a R
2anany 4

o/ a R a o o L A g6 ¥
Elﬁﬂaﬁ/lﬁﬂuﬂ'ﬁﬂ’JUﬂuL‘li\Wﬂu’]ElLLUUQ'\&E]\WI\WI‘ULLUUE]E)W‘lﬁ‘I.ﬂ‘lJﬂ‘JﬂJ&Iﬂ’ﬁﬂﬁﬁﬁlﬂ@ﬂ‘Uﬂ’J

q
1 o/

Uszanaiiuusan1asiazn1sUssanuAdns1venevasnnuaNLuulaunduadyyi
Y10ONTENINUYATULINTIT

URAUN 1: 9ONLUUFIIAIVANTYIUNIELUUIAIAUKUUBanlatlnudanaiiy 2 uas
2y O uaz R
TUROUN 2: 9BNLUUFIUTEUIUAIRILUTANILIAEN1TVIAIERT V88 VRIAIUTEN1 A6
WUsaN1IEL e lAIANNRANAIATENINAIRILUTANIEIgNUTEUIURUATIAT
w9an172939 dAanasdionadiull  aruleulveaunisd (18) Alenis
AmunAT @ (Estimator design parameter) luzis 0< @ <1
2
@G G4 — EC
) o 20, G>0 (18)
4'G—C'E G
g £ =G 'E swaslBuansiigadanunsafnulanin(2]
) = A o o a Yo Y
Tunauil 3: A5IABUANNTENYININVBITEUUNTAMAIUANTNITUTEENALYFIU TEUUe
wUsan1e anuleulvaunisi (19)

F FA'

Pi.j

>0 (19)
A F F

| 4 BF
g 4 = ,j=1,...L , i=1,..N
o\ LC A+BF—LC

SYUULLANULEDYTN WD F >0

0 F <0l nauglunau 1uag2
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% a R
2aNaInNy 5

danasiulunisArvauidsinuiguuuinassamunuuaanladdaszuulunsaliinig
Uszgnaldaauszuiuiiudsan1izuasn1suszuInAIdns19818 UaIAIAIUANKUY
Uaundumasyey1aiu19anEniNagn 1938 UE93IUAUTZUUNENI 2T

Funauil 1: Surdyanaesnansyuy (k) wasdl k=0 1 £(0)=y(0)
funaud 2 vmAnsvevesiinmuaNLUUlsundulay nadeunuieuly 1%, <1
Tneidunsaauan i = N fldassnueaunisideuls Wasaaeu 7 i =i—19unseis
pousvoaunsdouly waldnsuszanadnsvenevesdinIuaukuudounduAdy gy
PeaNTEEniuemnss Tag min Pk) melddouly oaunisi (14)(16) ldan
BnI v VeIRIAUANLUUTBUNTUANT e 1V108N ANNAUNTT
K(PK)= PUK +(1—Pr)K

funoudl 3 thenduususugammang u(k) =K (OK)z(k) gszuuiifiosnisniun
fumauii 4 funaAduUsanmzanmsUszanaduna k1 9nauns

R+ =4 500+ Bulk)+ L (y(k)—C8(k))

TUPAUN 5: 04 4381 k+1 W &=k +1udindudiunauil 1
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= o @
unn 4 ITUUENNLLASAINIUAN

4.1 YANARBITTUUHN

sruvdfaduszuudadinsiunlédidudiunuresszuunsadanisgnamngsy
Hosnsyuvddadussuudsiinanefuds WWussuufidanuldd udadu WAL ENNT0TEY
991AV0IFUTUTULAL A YY1V 100NUDITEUY mﬂgﬂﬁ 4.1 LaAININTINLATIAT 19V
syuuasasznoulufednihsnnau du Tnglégusasluasiinduieusudadiuvesi Tu
druvessyuvdniazysznoulusedy 2 # Judil 1 ssvimthiidailugddduiiueza Tne
fnédasait 1 vt fiusudndiuvesihantusai tludidusas e drudlugaiiz viudhide
dlugadsludt 2 uay3 Tngaziingasnd 2 lunsusudnaiuvesiantusaizluddausaslu
msUfudnarnverndnslddydnvaiunuiie 2 Jadulumudeuls 0<1<1 wavende

wssulnin@sangliwntaduiudsusuvesssuuauay

e
(1 7 j’] )qpump,l {>‘Q<} ontrol valve 2

Control valve 1

Tank 3 Tank 4

- £ -

valve | valve 2
Tank 1 Tank 2
q
pump.1 9 pump 2
Pump 1 Pump 2

Reservoir

JUT 4. 1 MMsInvesssuvdiuasmulnieItas
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U 1 £ o

ludiuveinismivanariudatayamwlslunisavgusenitenauiinne sgly

TUsunsu MATLAB Tumisaiagaddiniuauiuyaniuauuessyuudnsiugunsal “ 813l

q

(arduino) 7 f35U7 4.2 arsaluilululasaeulnsatansuszunnuils dnuisUssulananas

U Y

ANUTIVLIAENNETUR DY @uN5aSU-ds %a@gjaléfﬁﬂLLUU@%@@@LL@%@U’]&@ﬂ nsgeules

5811319 AOUNILADT-8139LU-5eUUARY uansladsgud 4.3

A1) ATUNTNVDILNIIIDT Y) ATUNTIVDILHIIIDT

U7l 4. 2 9ndglul

4 )

TalUsunsy MATLAB
971928 SEDUMI solver

lun1sgussuumIuay

JUN 4. 3 UARINIWIIUNMITU-AS Heysural 52119 ABNRIMBS-213glu-s2UUEAY
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4.2 gunsalluszuudag

[

gunsalluszuuddaannsouwuslailu 2 duseiu Al

dauil 1 yad

1)

2)

3)

a)

5)

6)

7)

8)
9)

fansenszuendwau 4 Tu Jagvinainegaian LUk uauINaTs 14.3 LBuRlUnT a9

90 LYURALNAT

Juduuusaumiganiaudnans (Centrifugal pump) U84 Bruno §1U3U 2 63 YUIA

Y5 W399

MauAY (Control valve) 84 Samson 31U 2 73 YUIA 1 107 wae % 13 Fadl

n1seevausswuuUnide lunuideidlaviinisilanginiuan asnlin 100
f < (3

LWosigus

Juau 1/ Idivedwaulvifunamuny

gUNI0lNTI9IALIIAY (Pressure transmitter) ¥83 ADZ Nagono Hg1un15inod

Y
4

1939 0 fis 100 mbar wazdsdyyinneanlugie 4-20 mA Adgiuanaunseal
o I < ! o o [

aunsathluieuluriauguasssaudilug
dunesmad (Inverter) 97U 2 67 999 HITACHI 3 SJ200 uay OMRON 14
dwsuusurnudves Ul idnedUuvsass
gunsalindnsnnisiva (Flow meter) ¥84 ifm electron $1uu 4 63 UGN
nstavesifasiingiusagly

13 o U L o aAaa
U9a11873 (Ball valve) 97U3U 6 #17 1@ANIAINNIY
oG wum 1% 13 % 1 wag 1 11 leedulngvievun 1 17 avgnldluszuu Tu
duviorwn % 11 azluvieTasionanaindiniun wagvisvwn 1 U7 WJuviads

AReBNIINUL

10) 819%Nn1 T@919IneEAIAN WUIANTIN 180 LURLUAT 817 45 LWURLUAT g3 20

LYURLLUAT

| i oo
#Un2 YAAIUANISUUELN

1)

2)

gunsaluUasnszualniin (Current transmitter) Ivthituuasdayayradniin 4-20 mA
ngunsainTvinwssuiioulandumussiuliihdmsududiensaly
gunsnludasussiuliiil (Voltage transmitter) HntifinUasusadulniihainaisqlu

Juanszualniih 4-20 mA Tdasuaundinuay
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3) 8139l U Mega 2560
4) \e3eanouiiamesnenlusunsy MATLAB R2008b dwmiuaiigadidanisaugy

wazUsrananaimuaANd I uTEUUAN

amaunsadlumsveaesuanslilunini 4.4 dsusnin n 8 g

4. 4 gunsallunisneaes

n. YA U, NFINIUAY
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3. tluan q. 11NN

2. gunsnludasnseualnihuasusadulnd
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9. DUIBLADS

4. gunsalindnsnisiva al. 913l



8. ARaUNTA

9. ARUTIANDS

21



22

4.3 wuuINaaWNAtinaansYasTEUUafQUNsallusTULEN

$UUADIUSENaUIUME NI UILALUTEILNT0ES 19UV AN AN ANEAS VDS

wiazaalaensvhaunauiaansusazas i lonsaludl

d(pV)

dt

=pq,  —pq (20)

in,i out, i

a

logh ¢ unudnsimsivaveshilvaldndsn i uag ¢ unudnsnslivavesun

Pviapanandan i

mnualinisaianuuitaesmadinaiansvasssuvdieegmeliauyigiudsioludl

1. anuvkiuvesiniiAad Wiy 1000 Alansusiegnuieiiuns
2. gaumgiivessruvliiiinsivdsunas lesannisveassinfigaumgiiviesluiesufuninag
3. deueNgnUsUliUe 100 Wesidud aasanisnaaey

4. ANULSIED9NLSIUNA19UDLANTAIASN WINAU 981 ANSIUTURLUATHBIUNT

INANUFUNUTVNFUNTIVOAET ¥ = Ak @1nsaunuAInuduiusaenanadly

aun1s (20) Inguaunisivdlaaunisy 21

d(h)
A——=q — (21)

in,i out, i

TnenonTvavesihveendunadlaniedulunuaunisi 22

h
q.,=C,, el (22)

G

/

v

IINAUNMITNAUAINTINFUaNNTEN T IMATesTIaNH TN LAT A

[ g
qam,i = mi hi 2 mi = CV,i p_ (23)
G

S

v a

loe?l m ApAMIsTmeINMIIaveInddldnaed i
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luuddeieinisauansgruiiludan ka2 Tnen1susunussdulnings
JauingUududuiiesinesiieusuaiiudvenseualiirnluaidrgldu aruaunns

g, =k v Bsldlunsdunmndasinsivaveshainduidewdgszuy

M50 4. 1 wanadnsnisivavesindeuaintdudim 1 uag 2 Wdssuy

Feludi 1 Feludi 2 Faludi 3 Faludi a
darhdad 1 vkv - - 1=y )k v,
Hundrini 2 - vk v 1=y )k v, -

ndayalumsnd 4.1 wazaun1si (23) Feagnulldluaunis (21) du anunsadeu

aunsaunatiaansseutiusaglulaftaunisi 24-31

dmdudslud 1
d(h)

A7 TR AT E A T (24)
dt

. 1
h =Xk, +mfn —=mfn) (29
A

dmsunalun 2

d(hz)
=rq -|-qow —q (26)

2% pump 2 out 2

dt

. 1

h =Xk, +mfn —m [n) (@)
A

dmsunslun 3

d(h)

=(— 7, )qmp'2 —q (28)

out , 3

dt

. 1
h =(—)X({(1—y, )kpv2 —m, \/Z) (29)
A



dmsunlun 4

Tnen 4

=

> 0q

~

)

1%

G
yo,
C

v, i

q

pump . i
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d(h)
- —q (30)

==y )q

pump , 1

dt

.
h =X (=7 )k v, —m ) (31)

A

[ ] '
Il = a

NUNNUNPAUDININ i

Db Db
ON . ® L2 | )

Usuesulugan
sEAUANNgUanlutia i

ANANULT LB INLTIUNR 9 URIlaN

2 D Db

dI 6V
A9 ANAINNISlavRIty
=) U 1 Y 3 d' 1 on = d‘ . v v Y 1
Ao dndulunisusunaiieanetnandui i lgInuans
Ao wsasulninadeuldnudusg i
AD AIAINAINTINIZVDIVD MR
AD ATAIUAUILUUVDIUN
= - a Q‘ & ‘:4' .
Ao ANEUUSEANTNNS1aU9NaRIN |

[

& 4 Y o oA .
Ae m’lmﬂ%a“uaﬂmﬁﬂﬂﬁmmvn

t:l' ! N o a s o
AT 4. 2 LEAASANASTIIULUUT IR DI NALAEIEASVBITEUUALS

Foyanial Al Ta0etd
Hufinthinvosd A 160.6 em'’
ANV UYR3 P 0.1 kg /cm’
ANAINANINNIZVDIVDIUUA? G, 1 -
eansaiieminussliugasestan g 981 emls
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4.4 351158519 UUI1A BT UEUGINNITIUALULUAINIUIAIVDITLUUHD

INwUUINaentaullidudaduvesszuvadamiuannis (25), (27), (29), (31)

ansadasuinilvieglusUaunisusgiianuzmunuuinae udadugaiinisiufgunlasnny

U d’l
LIATPNUY
— ml O m3 0
. A [h] A h3 kv 0
h r
1 m, m, h‘ A k y
. 0 - 0 r’2
h, N Afh, || b, . 0 ) v (32)
l”.; 0 0 _om d h, 0 kp (1—;/2) v,
. ND n) | ka=n 4
h4 a 0
" A
0 0 0 i

Arfh
4

31N1IWe1AEITN15 Euler’s Forward Differential Tun1sdnguuudtaeadaduds

WasuwlawmunaivesssuvddalviegluguvesaunsuTglianusiuuisn dasuwuvauns
9l
- x(k+1)—x(k)
x(k) =~ (33)
At
Tgnannisluauns (33) dnguaunts (32) Inaiaail
m At m At
|- 0 —— 0
'NAD NG
h (k1) m At m At h, (k)
0 | —— 0 [ S
h (k+1) A, /hz(k) A, /h4(k) h, (k)
= 1
h (k+1) m At h, (k)
0 0 - 0
h (k+1) Ay[h, (k) h, (k)
m At
0 0 0 1—
ND
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Azkp 7, 0
A Atkp 7,
o 4 i (34)
0 Atk (1=7,) |\ v,
Atkp =) A
4 0

naunTs (34) vilveglusuvesiiuusidesuu (Deviation form) lagrfinunli
h=h—h ,v=v —v lag@l 7 waz v Judwdsnegluguandsauuy dw i

J J s5J

way v AafmuUsluanN1zAIR? 91NAUNIT (34) AU LA

mlAt m}AZ

- — 0 — 0
Ayfh (k) Ay /h}(k)
h (k+1) m_ At m At
0 | 0 —
h,(k+1) NG NG
hk+1)= ,a=
h (k=+1) m At
0 0 11— 0
h (k+1) AxJh, (k)
- m At
0 0 R
Afh, (k)
Atkp}/I 0
h (k) A Atkp;/2
/’lz (k) 0 4 v,
h(k)= ,b= V=
h, (k) 0 Atk (1=7,) v,
h, (k) Atk (1=7,) A
4 0

[

= = =~
gUN19IN 35 LLﬂﬂQﬁllﬂ’ﬁVlaﬂ’]’wiﬂ"] NU

h(k +1)=ah(k)+ bv(k) (35)

[

= = v &
FUNTN 36 LAAAUNITNEANIISAINT AU

h (k+1)=ah (k)+b v (k) (36)
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dnguaunmsivegluglaunisiuusideavuananiizn

h(k+1D)=ah(k)—a_h (k)+bv(k)—b v (k) (35)-36)
h(k+1)= a(ﬁ(k)-I-hﬁ(k))—aﬂhﬂ(k)-I-b(\_z(k)-l-vu(k))—bﬂvw (k)

7 (k1) =a(h(k)+(a—a Yn (k) +b((k)+(b—b v (k)

B (kD) =ah () +(a—a )k (K )7 (k) + bk () +(b—>b v (v(k) v(k)
FkA+D=[a+@—a)h OR K [HE+][b+b—b v OvE) " |k E7)

aun15¥ (37) egluguvesiudsidesuuainaniienssia e a 4 b ,v AB
a 6 ~ (% ~ a (% o a Y = a
WRSNG a ,h b v NaAIA WeolsuiuwuuInasudududiiinisiuasuniasniuiian
feaunsaolUll x(k +1) = A(k)x (k) + B(k)u(k) wuindudsaneqianuduiusiuns

Auns7 38-41

x(k)=h (k) (38)
u(k)=v (k) (39)

a0y =[a+@—a)h O ®"] (40)

BU)=[b+(b—b)v (kv(k)" ] (41)

4.5 szuvddaneldaniizmangauazantizhifiwanisn

nsmuAusEiuivesszuuAitlunuided avaulamuauszuunieldaniosma
anuavannzlifivaian InsvaesanizasiAnannisusuiiamaesdiBeusudadou
mﬂwamaqﬁwmn%mL%ﬁqjé’ﬂﬁméw NUITeves [7], [8] way [9] ldesureiieaiu
AanuduiuslunsuTuAdndiuveandteaniienne lnensuiuadadiunailvioglus

1<y +y. <2 mydduiiemamisivaveshantunsaesudnvuglagibinlvadgds

o

AUAIINNIRR LY dewaliiszuuddeegnieldannizilanian lunsiinisusumdndiu

e

[

nMeglutn 0 <y +y <1 mulsuiianenisivavesantunsaesludnuaeilagy
Wi lvaddivnuuunnniidisnnuas dwalissuuiiedneldaniglifiviaign delu

angldfmasiandnaziiangfnssunisneuauawuunsiudiy (inverse response) u
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4.6 YvauLINAMU LU UVDIUUI1ABITZUVRNY

INALNITLUUT a0 L TuduT NS UAsunlamIIa11e9sE UUASY x(k+1)=
A x (k) + BUOu(k) wuiiluannyassesszuuaduiu dudsluwning A(k) uas B(k)
axileliiuduou dwmaliuuusiaswesssuuadaiamiuliwdusuiniudsiussdesiinig
sunveuiraayliudusureswuusiasstu lngasiinissmuaveuluanelu n3ng
A(k)waz B(k)

TUNSAAUATeUAYONNA3NT (k) 9Inaun1sT 40 wununsng 4(k) tuasd

AnUAgulUnuAMIgIvesTEAUET ety Yeulunauliuiueuves Wasnd A(k) aziiin

'
o

nvaulnvessEAutlugamng 4 Tu lnefdmuali seaudinianveusiasfsdsldlunisnaaes
1A Wiy 4 lwuRilues wavseaudigeanvesusiazdadaddlunisneasdal iadu 50

v A v

a & = Y aa ! ! [ <
UGLLAT WONANUY E9UFILUT m.,m ,m_,m %QLUU@’JLLUiWNﬂWlﬂJLLHUE}u DU UUNANNRIN

-

a Q‘ 2 YV 3 -d! a o dy Y o 1 1 1
ANFUUsEaANSYeaIlanane 4 Tu Feluanudsed Tanvusveuaainuliwuuauyee An
duuszansvesndilddausdazdlnfiiioglugag +30 Wosidus uaz -30 Wesidus 91ne
U a Q‘ L3 2% d‘ U
FuUseansvasnailanananizaas

Tudgunsmvusuauauawunsng B(k) NNEUNTSN 39 NUINURSNG B (k) 1
fanuduiusiumasivestu (k& ) ddumsufundufieuvaiandy (¥ , )
wazmasliiideulviunty (v, v) slussuudiasaiuimudsnsaudaliuiueu dalu
= a o a 6 é’ 1 LY 1 d' [ %
FinsAruAURULYRTENNAING B(k) U A189nvoURLUIA1elussuudn N ela
annenimaiagauaslufiinasgnazuansliluunig

ToyaAMIIIMoTLaEUaULUATRIAILUHI lUENN1TLUUTIa03T8 UUANI D LAY

Aluun 6 TudgureIn1sagavaussausyaIty

4.7 fIAIUANITUUERNY

Tun1saruauszuudfnieiu venaindymvesiudslutuusiassiidan
AaRLeABULAItY Snuidnsnisinaresiainiufazidalad fafunisaassiu
spUvAfeTeazldnismuauuuumalan (Cascade control) Tnelvguamuaumdnidunis
muausziuiluds dulugumunusessgaiuausnsinisinavesiiliasiiniunisuiu
wsatuluihundads 2 § dnwaranuduiusvesssuuniuauiussuuaduansdeguiia s
laggUnanvaINITAIVANLUUAIALANIEATIDIAIAIINAIVRITEAUTULsAL U UN ol

a3 inuseiu Tnedaanneenangundnazgnaanidualmme (Set point) va3guses
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Fudugulunisaivaudnsinisinavesii Inedygyiuvisanaingusesignadluds
dunesimesitausuanuivesusines iz auielvensinisinavesirNareantuni

ANUAINADINIT

Control valve 1

I S ... -y syl ISP

SP (slave loop)

SP (slave loop)

MPC
Level control

[ SP (Masterloop) | /7 N&-----mmmmmmmd

Reservoir

dl U U (3 ! L dl L
E‘U‘Vl 4.5 LEPIAIMUFNNUTTESUINISUUAIUANNUIZUUEAN

Tudaunseonuuuiarmuauy ﬁ’amuau@wé’ﬂ?}qL“ﬂugﬂiumsmu@mzﬁuﬁﬂuﬁq
wldmsmuaumuiienidediiaue dausmuauguiesdadugulunsmugusnsinig
InavesiliinsfiondenliiBnsmuaudshuswuuiassasmuusenlatinusided 3.2 3
nsmuAudInafazidanaiiulunisuseiuaiosninvesszuuisaunsatunldlun g
agamdsmuan Ineazasauuusiaesssninednivaveniuwazuswiulnihdadeundy
AUNISVIAGBUNITNBUAUBIVBINTLUIUNITUIBLTUNIINITNAADULUUALAY (Step testing)

'
N o Y

Bnsdnanagnageuntsivisuwlatiuvaivresiimuanlunsdissuulandslidsn
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muAy lngazdudfinArdnsinisinavesiniuasuudasivlugisvesnisusuaussqulni

LUUEAY  LARIIBEUBINITNAGBURUUAAUAIFUT 4.6

u(t)

Y(t)

JUT 4. 6 HANSMBUANBITBITYUULUVALAY

UM 4.6 U fe wsssuliih@adivuawdsuwdadld Au uag ¥ fie dn31ns

Inavesih@advmnadeundasiy Ay Tunuddedaulaussgndldnisnevausuuvaiulng

Igmnuduiusssnieauwssiulnih@adgliundusazargnsinisinavesinlusduuuves

FEUUANUNTTDUAUNUIANAUNTN 42

Y(s) = K

U(s) Ts+1

dngUaunisn 42 la

sY(s)Ts+Y(s)= K}\\AU

91nEUN1TN 43 wias Laplace transform azlé

dy(t)
T—+Y(@©) :Kvu(t)
dt

. y L (@) y(t+1D)—y(@)
dngUauns 7 44 gl ~ oF
dt A

(42)

(43)

(44)

a
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K A

At
y+D)=1——|y()+(
T T

u(t) (45)

Tuaunish 45 Wuauniswuuinassdananannudunusseninawsasulnii u(s) e
9n3INTMaven y(¢) Bawuuitaesiaztluldluniseaiuaudaituigwuuinaesaauuy

poullall dwiuds 7 (Mawvesian) annsanildainnisaiiensmaegui 4.7 3nnsu

U 1 1 y 1 U 1 U 1 U 1 o 1 gj
PNNATT B AT —— AU 0.632 ANANAIVBILIANLLNINUAILIAT 8 ALRUIUU[10]

K‘_u
1.0
2 0632
Ku

JUT 4. 7 1@UlAINTSnauauesd T unISAUINAIAIAITD 9N

INANNTHUUTINBIVBIAIMIVANGUTBIAIANNTTN 45 WU A1AIAIYDWIAT(T)

WAEANBNT1VEN8YDIMIAIUANGUTB (K ) ushuustedamaseninuliiiusuvesuuuiians

P 44 o Y ! U A [ 1 Ao
LWE]I‘Vﬁ‘mﬂ?iLLUU'“U']ﬂ@\‘]ﬁ']ﬂJ'ﬁﬂhiﬂ'Uﬂ’]Llﬁﬂ@’IUVLWW'W!ﬂﬂ’WIE)QFLUSU’N“UENﬂ']iVlﬂaE)‘Uiﬂ‘U‘Uﬁﬂﬂ N

Ansindeveusvesdiuls 7 waz K lasldnisvneasunanisnavausauuaiiunielu
Fraveuwsaiulnildlunisnaaeussuudds Wear 7 war K Adnsdsuwlalugig

Yo 3UTUAMSIAUlITN 1.86 84 2.06 1aad Iaedayar1n11dneshasraunrodfiilys

ane9lugunsi 45 azuansliluuny 6 TudiuvesnsvadovaussauzvosU
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a ad o a a o
UNN 5 /N1TANLUUIIUIIY

5.1 N1IMANILAIAYBITTUUNE AN AN TTULUUWEAER

1)
2)

3)

a)
5)

6)

Wemdamuauasil 7 100 Wesidud Uiudadauvenidadi 1 uag 2 137 0.7
Téddsanaeufinmeslunisteudussdulaia 1.96 Taad 91ne19gluluds
Bunefmeivesduriansia

auulihmesseduinfianmsasia wiomte fundlEddildaesuiluusias damy
ABINTS

NEYATLUY

Bunpaoumanmzasinandala tnsldyaddssmunuguseaiioniuausng
nslvavesdudiiinddliiauiigy 155 Umin uagdusiiaeddidadwiify 16
L/min lusasnadeuaziimansatamszduiinlufing 036 Juiil ilegugingsu
LUULWERAAYB ST UY

selviszuudngan1izasiy uaiduiinAseautnanvailuldazde

5.2 pMsmanzasiavasssuuneldnganssuwuulitivnanign

1)

2)

3)

4)

5)
6)

Uanndimiuguasil 91100 wesidud Usudadiuvesndidaiil #10.13 waz Usu
dnehuvesnadian 7 0.165
ldadsanasuiininesiunisdeudtusedulaia 1.96 Taad anersgluluds

BUNDSLIBSVDIUUINIADI

v v
[ [y o

fnen 1.05 unit Saseurivied d1 iAulfussduiisuduneumuauszuuaieie
yamasinuideiaue

auuiltiwesseduinfianmeasih wieuiauundliddildsefuiluudag Sy
ABIN"3

NYATEUY

Buszuvandavalaedeurussiuliii 1.96 1ad 9nersgluludBuedines

RN NG RRLR)
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1381 1 1.05 w1l Sunaaeuman1izasilagliguauausedieniugudniinig

lyaveadudmnilelida1vindu 11.79 Umin wazdudifaeddvididnyiniu 10.66
L/min Tuvaignageulziingiaindseauinludamng 0.36 i iiegwgAnssuwuy

Lifiwlasanvasszuy

v oo
(% o

selviszuudngan1izasiy udrduiinAseautnaneasluldazd

5.3 %’umaumsmuqui:w

1)

2)
3)

a)

5)

6)

7)
8)

9)

wisuszuvAT meliannzamaniienaasunsmuaudddszfouisnisaugy
fanAdoiaue
afanuuiiaswesssuuddineldanneamanlaslinguiaugainaans
aauuusasauduiussenrisaussdulnihddeliundusesasnisinade
NINAFOUNTADUAUBILUUALAY
npdouANTInUENITILYesluteaesffieniA1veuunveaiulTuas
AMITBSlUaNNITLUUIIARY
afagamdniseuguauszsdeuimsmuauiinideiaue Tdyaddsgunanves
szuumaaalufionIuauseiuh
a¥1syaMdan1smuaNmuNIALANIERiusLUUT a0 snauuUUaonlal 1d
ynddigussasssuumaianlunisauausnsn1sivave i
muAuszUvaTaneliannmaman Tufinnanisauauszuy
wisuszuuadsluannglifivamanifienaaounsmunudsliszdevitnisaunm
AnAdeiaue

YAUTUN DUAILATUNDUNEDIDITUABDUNNN

10) AavaNszuLAdIneldanzlifnadngn Juiinnanisamuaussuy
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UNT 6 HALAZILATIZANANTISNAADY

Tuunilagifudiuvesnisiauananismamisidinestuiuuiiasssinluiswanis

o
v A

nageUYAMTINNUITelaueiuTEULAT YT IEINaN1TNAaes Tun1TnAaaesEUUadll
AakUsan1Ie Aoseautnne 4 83 lagagiinismiuanseavinluden 1 wag 2 lnglvan

wWhunne(set point) U9935EAUUIMNIABINN AD ANTZAULNTIANIZA

6.1 HANITNASDUANTIOULAITNITUVDIUN

ANSVNAADUANTIOULVDITUNIADIVTULNDMIAINISITLADTUINAT L UL U U 1B DL TU
ANAIEIUIUL ANERAILTRINE) ANSRSINISIvarealy Wudu Fegen1sneaauaNsIaUY

vosduiinaasluanizilamanuanslinegui 6.1

22

18 A

16 4

F2(L/min)

14 A

12 A

8 T T T T
0 100 200 300 400

Time(sec)

JUT 6. 1 ansnaaeuanssauruminassluaniizianiian

23U 6.1 Bushegunmanageuaussourthlnsuansuanimaaouiuiudiians
Tuanmzashaelneiemussiuliihunduanisad lneagdsumusaulniuiud
Nn9a2iund mavaaeudnamanfeugasdslulusunsuuanuay (MATLAB) u Taei3u
MnAwsssulniindgn 1.86 Taad auferussiuliings 2.06 Toas TasAusaduliing

WasulagAseiuuszanu 0.02 Tiad snavesnisvaaeuusatuliinaussdulndi
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1 v Y

ANNUU

Aafulatasfgaua 0.02 Tad
ludunismedimisiivnedaiee azuaneiteg1an1sAuInnnInlugun 6.1

augn 0.02 1ad ilesanndedninvesgunsaiensgluianunsadeaiussiulnilig

TugIR AU IANIURTIUIT 84 UannTIAagUR 6.2

12.5

F2(L/min)

9.5 T
0 20 40 60 80

Time(sec)
JUN 6. 2 nansnaaeuaussaurUumigesluan1izmlaniigalugiaia
a v ~ a A
LSUAUIUDTIUNNNGS
N5 lugun 6.2 wansinmsisuausadulnilaaisuainawssiulninsudu
1.86 a6 naana1uly 42 Jud aztdurianisiasuaussiuridiududu 1.88 Tad
Tneluwmaztawsenulnfdrnaelrwndutuaiunsaneasnveslulaannaunisy 46
F
K =— (46)
\%
a9l F #A9 Anadevessnsinsivatinanduiaiwssauludy v Tad

di/ 1 dl 1 L 901 U ﬁl dl AI !
NN ULUYIN5LURIUAIERIINS IRave U UL HDIN11NANSIUABULANAN

wsesulnifinly 0.02 Taad @nansavAIAeFiIveIIa (7)) agA18RIT1UEN8VBIRIAIUANAUTEY

(K ) 108A1A9f19993a7192 17 US20£981 N5 UasuwladA8ms1n15 iaveeunann 0

Woasidud 1u 63.2 Weasidua TudiuverdnsvensvesiiniuAugusedaunsanilaain

aunnsn 47
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(ar)

e AF Ao A1ensinsinavesiidsuwdasluduiiosmnannnisilasuluagen

wsasulitiaingu Av Tad

TUASUIAIVBULYAVDIAINISITLA DT NIAIAIFIVDIUL AFRAIUVDINED ANDAIINS

lyavesdy 28vinIsAIUINAIY0INI1TL003N YN SUABUAILT UL Aausan

wserulninSusY 1.86 A1 2.06 Tiad LileguaulunueIAINITIdinesiagtoyaan1 iz

FauwIulAINNITNAADUANTIOULVRITUNIFDIFILEAI L IUAS197 6.1-6.3

o % - { & v ° + { &
Iy Mvuelyl P uwansteszuvadineldannizsinananuas P uwansdassuuads

aelaanizlaifinasan

A £ ' a s al Y
#1379 6. 1 ‘EJE);{I@F”I']W']T]NLﬁlaiﬂﬁﬂ’]'ﬁgﬂﬂﬁm

Feyanyol P P ety
usaau luvh v o 1.96 1.96 14
AAINTTuaIN k 136.05  100.125  cm /sV
AnenduaIng - 140.31 90.16 cm' | sV
1w o S o A
mdadaunsliunaion V- 0.7 0.131 -
1w o S w A
mdadaunsdiunaiing V. 0.7 0.165 -
8a31M13 lnavesudni F 15.55 11.79 L/ min
8a31M13 Inaveafudng 19 16 10.66 L/ min
803103 Inanntufgoai /. 10.85 1.55 L/min
80313 Inanindunigosiz f 11.2 1.76 L/min
80313 lvaninduNgoans 1 4.65 8.9 L/min
80313 lvanindunigoh 7 4.7 10.24 L/min
Amnaiimesms lnanarldnei m 40.6837  35.6707 em” /s
1 a J J Yo A 2.5
AMNTIMeI NI lnanaaldnanz m_ 40.8456 415586  cm /s
amsdimeinig lvandaldnein; m 19.0045 240534  cm /s
amadimeing lvandaldnaina m 161042 278921  cm /s
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A1599 6. 2 ToyAaTEULIAANII IS IULUUTIABIYRIRIAIUANQUVIAN

Feyanwal P P’
usadu lilhega vn 1.86 1.86
usaau Ildhgaga wx 2.06 2.06
nsfidudaf 1 i1 k n 83 86
nsTTusai | g9 k x 142 113
fnsfidudaf 2 f1ge k x 86 80
nsiTuai 2 g9 k n 171 113
mdadumsiundiaiidga Y n 0.66 0.125
mdadaumaliundwniigage Y x 0.94 0.142
mdadumItiundanzeige Yon 0.62 0.146
mdadumaliundwnnzgiga Y x 0.9 0.222

A1599 6. 3 ToyaveulamIinesluwuuTaeIveImIUANgUTeN

[ d 4

Ayanbal  AINIUANAT  AINIURNN2 T

szozna lumIgquiumm AY; 0.042 0.042 sec
masdaveanaosiiga T 0.0466 0.105 sec
MAFIvIaIINTiga T 2.238 1.836 sec
fhé”@méumammﬁammuﬁ’aﬂﬁqﬂ K 1 100 L /(min*¥)
fhé”@méumammﬁammumnﬁqﬂ K 1 100 L /(min*¥)

6.2 weAnssuvasszuvdfneldanznangauasliisiiangn

Tuidetazuanaginssuesssuudfimeldinlamanuaglifiasannsdiissuud
filsifinseuausduihusagiimsldimuangusedunismuausninisinavesitaindy
aedlnsfinuediszylumssd 6.4 Tneardnalvavesiluassi 6.4 fo1dnsinig
Iawadefieussiullin 1.96 Tad saduauswiulifihfiannzasi Inedeyalumsimsw

1AINNTNAADUANTTOULVDIULNIFDIA?



38

M3 6. 4 ArgnsInsivavestulussuvddsaneasnieldannivinamgauas

Lyifiulasinge
_ + Y
P P Yy
9051713 lraafudani 15.5 11.79 L/ min
90131013 IMatudaIn2 16 10.66 L/min

ludungAnssunuumlananvedddlui 1 uag 2 Lanaiagun 6.3 uay 6.4

50

40 -

30 A

€
< 20
-
=
10 A
0 -
0 200 400 600
Time(sec)
JUT 6. 3 woAnsImananvasisluillussuudds
50
N " . IV Al
40 LI
30 A
€
<20 -
N
=

10 A

0 200 400 600

Time(sec)

'
a

JUT 6. 4 naAnssuasanvasislun2luseuudis



39

[

NOANTIUWAIGAVDITEUUANIAIIUN 6.3 Uae 6.4 Uansseaud1vesdaludl 1 uag 2

'
=

Fududwiuarsluszuvdn lnengfnssumamgasenanilunauiainnisusudadiunnds

o (3

it 1uar 2 (7, y)) sweauns 1<y + ¥ <2@dunismaaesilduudndiunds
Faanaial 37 0.7 SnvnuzUundaiinan dwalifiensnisinavesindgiansannndads
fuuu fafudnsmsinavesthandudsdnadedgarannniduu seduiludets 2 39
Wasuuasiuilaeifistudos qaussduininganmeasia lunsvaassissdudiludsd 1
LAz2 ST 0.098 war 1.4 wufwns wazvaesliszuuithganinzasinidnsinisinares
Hugdi 1 Wity 155 L/ min wegtudl 2 iU 16 L/ min Tnewuiszduiflannzag
dresdaludl 1 Wiy 40.32 Wwufing wazdsludl 2 Wiy 42,89 lwufiuns
Tuduaussourresiimuauguiaslunsauaudnsmslnavesiuandlifgud
6.5 LAy 6.6 mﬂgﬂﬁ 6.5n) WAy 6.6n) FUNALAIINAANIZNINAITNTINTINETIT LA
mslwadmneadndagud wansiiuamuaiunsavessimuadlunismueulindng
nsluaihgandmneld dausuil 6.6v) uag 6.6v) uansdnwazvesfuUsuTuluguFuys
Heauu Wedadnsmislvadeuuuanantming fauauagnetsms LAl

YFunmangauieniuaulidnsinisinadianlnaifsaiuantvaneg

10

o
1

Flow rate(L/min)
(]

KN
o
1

-15 4

-20 T T T T
0 10 20 30 40 50

Time(sec)

) AnuduiusTsnindasinisivaresinnndudin 1 wazailuguiuusidesuy



40

[N}
1

Input(V)

o
o
1

Time(sec)

) ANNFNTUSTEnIUTUSukAz A lugUdudsieauu

JUT 6. 5 dnwaizn13AIVANENIINTSG IMavesfinmuANgUuTem 1

10

o
1

Flow rate(L/min)
(¢,

N
o
1

-15 A

'20 T T T T
Time(sec)

) anuduiusseningdnsnisivaveninandudin 2 waziailusuiudsiieauy



Input(V)

TudungAnssunuuldfiviasmanvasslun 1 wag 2 wanafaguil 6.6 uas 6.7

h1(cm)

0.0 \/J\ A

'.1 T T T T
0 10 20 30 40 50

Time(sec)

) AnuduiussEnimulsUTulazialuguduusideuuu

JU 6. 6 dnwaizn1smIuANEnsINsiaresinnuANgUTe 2

26

24 A

22 A

20 A

18 A

16 A

14 A

12 T T T T
0 200 400 600 800

Time(sec)

5UN 6. 7 wopinssuliifiinasgavesidlui 1 Tussuudds

41



42

26

h2(cm)

0 200 400 600 800

Time(sec)

JUN 6. 8 ndnssuliifinasanvesdialui 2 Tussuuads

[

noAnssuliinanIgnvess UATIRIgUN 6.7 war 6.8 wansseRuliveInelud 1

Y

= & v v J o a 1y ° [ { [ o
g2 %QLUUOQ@WU@WQIU?%U‘U?{QQ Imswqmiiulumw\lamqwmﬂa’nL‘Uumamammsﬂi‘u

dadwndwiig Luay 2 (p,)) aueaums 0<y + ¥ <1 @slunisnaaesillauu

v v ] [ |

&nd11uAEN 1 9 0.131 kasUSUFAaIUIawIN 2 91 0.165 anwauen1sUSUNEIRINED

A9MA TANANIINIT AR IUIINATIVUNINAININIUANG LLDFINAS N BULVDITEAUU LY

Y
¥ [l

TNV 2 Tu nudn seautvzAseqanasnoualiuduses  audngan1ieasi

(Y [ 1

anvazdnandunaunainiianienisivavesihandudsluaidndesuuuuinniiaiuais
Aatusauestnuansduiussauiludsuuududiulne Tudrsusnsgauinluds
Auvudgalinnin dewalignsinislnavesinandeinuuuanaIn a1 T INadRE U

lunsvavesnantudidsaedesuiu sibiseauinludedsanas uilliesseziiaisi
1 sesfuiludeinuuugetudos Wulunwauns ¢ =m~/n dwalvidnmmslnaveniy
INTINUUUAIEMUANINTY SEAUNTUImUa19T IR NgITU AuTeaudnganie

AYAD NOANTIUTLARTUAUTZAUUNTUGIN U TUTIININITINTT N1TAOUAUDINTIAUTIY

1%
[y o

(Inverse response) gaginagnulussuuingAnssuiuulifimasian lunisnaaesisyauinly
0991 1 4aw2 [SUAUN 14.173 uaz 12.46 wuRuns wazUaeslvissuudidan1izasd 18057
n1sivavestdudii 1 1A 11.79 L/ min wazUudi 2 111U 10.66 L/ min Iagnuin

SEAUUNNANILAIIVDININ 1 VAU 14.728 LYURIAT AL AU 12.46 WURLUAT



a3

6.3 NANIATUIUAIINTIVE1BVRIRIATUANLUUTDUNAUS YUV IBNLALAIINTIVENY

vasfrUszanaiulsanasnulilugiudoya

AIUNGUNNITAIVANNNUITEU AU TTUNBUIUNITATUINAIIN TIVE 18 VR IF
muauwuudaunduiasAdnsvesvesiiussanaiuUsannznulilugudoya Feloya

vosrmsaaszgnilldluseninnisauausyuuan

6.3.1 nan1siuinvessyulluanenadign

lunisAruIuAIdns1vegvesdimuauLuudeundudyyinuvioontuaIuise

munldannyaaumseanilud maxy  meldleulveaunisiunindidadun 8 f 11

u (ki)Yo .Y
Tnglusiddetiaziwnasnsvesvesimumuuuutsundudygiaviseniiulidua
8 A1 1AgLaaneAFILUTaN1IEAINN1TUTEN AN B AT UIUAITA TIVE1EVBIRIAIUALLUY

Uoaunaudygaoonfanisnei 6.5

M13199 6. 5 AFIKUTANIEAINNTUTEUUNDATUIUAI N1 VEN8VRIFIAIUANKUY

1Y

Uounaudyeyraunosnasil

ABnswegvesmuauLuuleundy  Avdudsannzannisussinu(s L% 5 %))

> 4

K1 60
K2 15
K3 12
K4 10
K5 8
K6 6
K7 4
K8 2

= = aad v X P a 6a v a °
mﬂg‘d‘w 6.9 LLEW’NL‘?IG]EJUEJQV]?QiVlaTNGUUQ']ﬂLQSUVLGU@?{Nﬂ'ﬁLllmﬁﬂsijsUQLﬁ‘UVl 8 U

8 19 neuiazinaziiAdnsvevesimimuanwuudsunduiyy1nIeenenIslentiy &

[ [

anansanIuANdILUsanIEIINIsUsTInalugadena 1 lvaunsagidngand wanelduay

Y

SYUUTIAILLEDYTNIN



Estimated state2 (cm)

200

150

100

50

-50

-100

-150

2%50

a4

|
-150

1
-100

-50

0
Estimated state1 (cm)

50

|
100

| |
150 200

JUN 6. 9 lenBuganssInnsAmwinvessyuuluanzvasgn

AUAIDNTIVYNYVDIRIUT LU U ILUTANNEEIUITOAUINLNINNTANDSTN 4 MU

4‘ - A4 ogvi o =~ oo XA |
Woulvoaunis 9 18 ey liamiuusanngannisussanadanuudiudduiisnaidiuld

A Py ) = = Yo o
LaERdaUNITN 19 LW@U33ﬂULaaﬂiﬂqwsﬂaﬂ53UUﬂﬁmﬂ33QﬂGﬂs{jmjﬂig UUAIAILUTENIY

NANTSAIUIAIDMNTIVYNEVBIAIUT SN URLU AN e ANeatl

[0.6021
0

0.1388

0

0

0.6126

0

0.1001

0.1455

0

0.7087

0

0

0.1039

0

0.7929

AdRIIVEIBVRIRIUTEIUAMILUTAN IR gni I lgm AU SN 1I8RINNTS
Useunad sl LIaoa bl muaunig fc(k-i-l):Ao)%(k)—I—Bou(k)—l—L (y(k)—Cx(k))

6.3.2 uan1smuavesssuUluan s lufulasge

TumsmuanAdnsIveNeveIRImUANL U T UNA Ay oy e aniiuanasnA a4

(%

, A o ~Na Ao P~ o av A ° . v o
AN LNTUNTTLLANS lan19e L’V\I’&[ﬂ’]’eﬁﬂ 1Ag91U739 EJ‘H%M‘U’JmmE]GﬁWGUEJ’]EJsU’eJ\‘imw.JUﬂN

v @ Y o 1 P~ 1w A
LLUUﬁjauﬂaUﬁinJﬂm%’]@@ﬂLﬂ‘Ul’J‘U’TLl’J‘u 9 A1 lnelaanAIAILUIaN1IEINNTUTTUIULND

ALNNANERTIVE18VDIAIAIUANLUUTBUNT U YR 10UV108N6INT97 6.6



a5

M13199 6. 6 AFIRUTANILAINNTUTEUUUNDAIUIUAI NI VLN BVRIFIATUANKUY

Usunaudgyeyraviosnasil

AsnsvenevesimuauLuutdoundy  Avdudsanigainmsussanm (2,8 X))
K1 60
K2 15
K3 12
K4 10
K5 8
K6 6
K7 4
K8 2
K9 1

A a a o ] Y o
INFUN 6.10 LAAAYNEUEINTITTINAU 9 L9 LagudaslandzdA1nIIve18U8R)
AUANLUUTRUNT U GATLZIAIUTaATUANMIKUTAN1IE NN SUS EU TR g luLen
aananbiszuuiiadosnmuazanansagiiigandivunglsd dunaivunnvedsntugmsesnl
fyuelvguinduiiiawnananudenisiuniseantuuiimuaunsafmLUssUN LTl
W - | ] & Y o Y 9 i = A
TwUTTUNIUNITdmade st uutuiina e Usanzan ludinsagluigndueansasn
as197u wiluaddedazldldneaaudsuniu waduniseenuuuiiieiaseunguuasilu

wwnslunisihluyussendldiussuuauassly

Estimated state2(cm)

4 | ! | I | |
2??50 -100 -50 o] 50 100 150

Estimated state1(cm)

U7 6. 10 wndugwmssnnsmuavessyutluanslifinasiign



a6

[

ATUNANITAILIUAIINTIVL18VDIFIUTEUIUAIUTANMNIE LARIAIRIL

[0.4796 0 0.1431 0

0 0.1403 0 0.1683

Lp=
0.1339 0 0.7154 0

0 0.1541 0 0.6659

6.4 HANTAFUANTLUUEH IR 52 TBUITNITAIUANAIUNIUIFLEUD

lurideillanaaeussilouiansamuauiiaueiussuvddunglaannezmlanign
waglifivlamgalaenaaeuanuasnsatunsgidngandmangvesafiuusan1igainnis
Uszanaiag AMILUTAN1I8INLAS 090 NAFRUANNIEDETANUDITEUY TINTINAZBY

aussouglunsUssendlinisussunuaidnsvenevesitnIuguiuudaunduady s,

] = A= & \ = ~ Ql' av o
aaﬂizﬁjwlﬁzjmauawwimLUua’JuMuﬂuizLU‘EJUﬂ’]‘JMUQ@WN’m’Jf\]EJu’lLﬁuEJ

6.4.1 HaN13AIVANTEULATINElFaNIEs AR

HaNIAIUANTEAUINTUA 1 wae 2 n1eldanneiaiianuanidegun 6.1 uag
6.12 Tun1snegauinaiagldynnds 2 gaseiu gaardusnlgdnisniuaun1uisnig
AIUANTIWELUUTIaIamuwuUeenlal meldveulunmnuliuuueuvadndlvn lng
Usgndldmussunumdulsaniie duyaardiniass agldisnisauauaugnAdiuy
wsnuain1sUszendldnsussnudnsvetevesfimuauLuulaunduaAdyyInIeen
FENTNUYATULINTITIINMEY  IINNTINVIADIRAAITN UL VBIAILUTANIILIINAT
Uszanau(Estimated state) Aiadagialun1saIuny lngaiuusan1igaInn1sussuiame 2
Q’Jj A L %’ U dl d! o b 1 U 4
N3 Mg SEAULIY0INIT 1 Wag 2 BaA1UInINmIUTEIIMAMILUTAN B UNITLY
a4 A o
\A38ilain
1NFUN 6.110) Uaw6.120) wansANUEURUSTENIIARILUTaN1I2AINATUTEUN

lusUsudsideauuiuna nguisasaleiansaniaussauglunisauguaznui

Y

o v A a o

Yamdsiaes Haussauglunisamuauaniigaddausn fudsan1izannisuseaiaingg
Ysudhgandmmeldsimsinigemdusn nasinandauisonanluguzosan IAE f9
d‘ = ! o o a ISP ° ! I LS ! ! ! v
M7 6.7 Fanugemdsiiaasdian IAE f1nd1 NasuAEIYTU0INAA193ENINeAFINYS
muauiuAt g lugII81999N15AIVANTEUUATIAIAINTT INHaTRIaNTTaULTTLE
NAINNURUIIMAAEULHDIU1A1NNTUTEYNALINTUTEUNUAITNT1VE18 VR IFIAIUANIKUY

1o 1

Joundumdyaavieenseninaentugmsss lnensmAnioefigaves Pk Aeaunisi



a7

13-16 Lﬁam@hé’mwmwaﬂﬁaﬂwﬂuLLUUﬂauﬂé’umé’igigwmmaaﬂ AIUANNTT
K(PW)=p®K + (11— pK)K , A18r51e18veeiiniuauwuuleundudayyine
ponfiduinlasdanfinduangnddousn damalidiudsufufiduanilddanfaiy
WuiuaungnsauanwuudeunduAd@yaaueen u(k) =K(k)i(k) ngadiwlsuiu
maa%uﬁ”’aaaaﬁmaammL’saﬂumimmmzw LLamlf’iéﬁgUﬁ 6.13 WAz 6.14 NavDY
aussnugdinanduanstediulsannzainedosdioTavasis 2 & Kasuil 6.119) wae
6.129) Inenuinmsfudsanizanasesiioavecia 2 & ansagiingandmanglauazd
aruiflunisgiinunntuainmsuaudeasdsiiasuasiofarsanludunisiiny
YDIFUTZUIUAITILUTANIZ AINNITAIITAUNTERINAIUTLUIAIFILUTANIIZAINNT
Uizmm(ﬁ)mﬂmwﬂugﬂﬁ 6.110) waz 6.12n) uazAfuUsanzanaIesilotn (») 970
nsilugudl 6.119) uaw6.129) wuinaeilalndifssiuilessuvadaiudrganiozai
Wuluanaunisdussuimaidiulsanine 2(k+1D) =4 (k) + B u(k)+

L (y(k)—Cx(k)) \osanAnuning 4 uay B, WJuAMUASNDUDILUUI1ABINT N

LUUTIaesvessruueyluaniizasii Anaun1sileA1fIUssIaAIAILUIEN1ILAINANT
Uszanadalndlfesiuadmulsangainesesdiotnazyinlinai y(k) —Cx(k) Tugunis
a0 ¥ ¥ 6 1 ¥ (% 1 L% Y a U

fandlndgud dewalviguuuvaunisimuszauddindsanizlndifeeduguaunis

2(k+1)=4x(k) +Bulk) FadloSauRgunuaunIshUUI1an9vaIsEuulunImNs Uy

Y

agMelian1igaeid x(k+1) = 4 x(k)+ Bu(k) swuirAiiuusan1igainn1sussanm

(%) agfiwihAuafulsanmeaiavesszuu(x) fdususzanuadulsaniaydaingn
luldfussuuifisudsannzunsdidsldannsatalilaeagldfulsadygamisenly
nsvhweAdulsanaetukufU ssnasfuUsanaerdedngnin U ldluusssuud
\esiloiafienumannindougaieandanuaaiandeuaInmIngIniaAvesaiediodn
Tudrunisiansuniaissnwszuuvesnismuauiefauauiildssdouisnig
muAuaNfiATsiauetunui svuudnsdiadiesnimlunisaueu Afulsaniizain
mMsUsznaumazmfLsanraniesiiotaamnsaigantvaneld nafananduiiles
Mnleulalumsysziuaiiosnmusssruunmanisi 9 aun1siid wazaunsi 18 lng
aunnsil 9 iunmsussiuaiosnlunisldnsausundsihuneuuuiassnsuueelal
aumsl 14 1WunnsUsziuaiosnmlunsdiinsusegnaldfuszanaiulsanisuas

[y

A I3 = aa 8 v o Y]
A@1UN1TN 18 LUUﬂWiUiZﬂULaﬂEﬁﬂqWIUﬂﬁmllﬂ']§U53E!ﬂ@lsﬁﬂ'ﬁﬂigll']ﬂ,‘lﬂr]amﬁ']sllﬁﬂEJSU'E]\?C‘YJ

AuANwUUTaUNT A 104U180NTENINNTRTULIN TS



a8

5
0 A xi‘ff‘fXXXi‘*{‘x:(f{f’(%;*
. _5 . X e
1S x e
o .
= -10 - x
g
8 :
0 .15 |
ho] ¥
L
]
g 204 *
k7]
LLl
-25 -
e Off-line robust constrained output feedback MPC
-30 A x  Off-line robust constrained output feedback MPC
with output feedback gain interpolation
'35 T T T T T
0 50 100 150 200 250 300
Time (sec)
o o & ] Y A
A1) ANUFUWUTITININNAISILUTENIEN191ANITUTTU
L dl U
Tuguduusibeauuiuam
5
x XX . X
0 - Xxxx,(zw“-.f X x % x ¢
« X a( X e o @
X R °
-5 4 x o *
X e
5 -10 *
o x *
=1
g -15 "
204 %
x *  Off-line robust constrained output feedback MPC
-25 A x  Off-line robust constrained output feedback MPC
with output feedback gain interpolation
'30 T T T T T
0 50 100 150 200 250 300

Time (sec)

¥) AnuduTusTEnIneswlsanealanasesilsintugududsidesuuiunm

JUT 6. 11 namsauusavintudslun 1 lugududsidesuuy



5
0 4 xxXx’(xXx-f-’("ix
% X X
x XE s e
~—~ X e
& - '
o~ X
g x *
o
»-10 A ¢
o
2
©
S :
T 154
w &
X
204 ° *  Off-line robust constrained output feedback MPC
x  Off-line robust constrained output feedback MPC
3 with output feedback gain interpolation
'25 T T T T T
0 50 100 150 200 250 300
Time (sec)
o & ] Y A
A1) ANUFUNUTIZTIRINANILUTEN1IEN291AN1TU TN
LX dl U
Tuguduusibeauuiung
5
0 Xx}fxxxf)‘gffxx;(%‘
X .
% X >.< « o o
-5 % . .
B
S -10 x
o x
2
g -15 °
o
-20 X
X «  Off-line robust constrained output feedback MPC
-25 x Off-line robust constrained output feedback MPC
with output feedback gain interpolation
'30 T T T T T
0 50 100 150 200 250 300

Time (sec)

a9

) AnuduusTEnInAswlsanluden2nasesiiednlugudwdsidesuuiunm

JUT 6. 12 wan1smivauszautilugslun 2 lugusmudsideauu



u,(volt)

u,(volt)

.10
I Off-line robust constrained output feedback MPC
[ — — — Off-line robust constrained output feedback MPC
08 1 1 with output feedback gain interpolation
.06 -+
.04 +
.02 +
0.00 A
'.02 T T T T T
0 50 100 150 200 250 300
Time(sec)
a Y o A Yy Y o A Y =i
JUN 6. 13 Ansudsusunteuliuntusiag 1 Tugusdwdsideauu
12
Off-line robust constrained output feedback MPC
104 — — —  Off-line robust constrained output feedback MPC
| with output feedback gain interpolation
.08 4 I_
.06
.04
.02
0.00
-.02
‘.04 T T T T T
0 50 100 150 200 250 300
Time(sec)

U

il

6. 14 aduususundeuliundusian 2 Tugududsidesuy

50



51

Tugﬂﬁ 6.15 AzuaAsMTIEUMINMIIUABULY AT ILUTAN TN TUTEI
FauanslugUvessudsideauy mngudsnanuandiifiuin a nandedtu yamdsdiaeds
fin1suszynaldnisussanurdnsvengvesimuaukuudaunduAdyyIauI0anTEnig
wnBugmssiamnsamuauliaifulsanzainnisussanasisaesarlndidsaiue
Whmnesnnnilaefiszuudinsdiadesnmlunisaiunm

5

e  Off-line robust constrained output feedback MPC
o0 X Off-line robust constrained output feedback MPC
with output feedback gain interpolation b
¢
) x "
S o7 s
N X
[} 0}
= X
] i .
= -10 x
] .
£
X
ﬁ _15 i L]
L &
X
L]
-20 -
X
'25 T T T T T T T
-35 -30 -25 -20 -15 -10 -5 0 5

Estimated statel(cm)

JUT 6. 15 idunnamaivfsuulasisiulsanigainnisuseanu

TugUvesimusilosuy

6.4.2 an1smIUANIEUUATINelaanazladnadan

HANSAIUANTEAUEILAN 1 way 2 meldanigldfimanianuanidsguil 6.16 uag
6.17 lumsnageudina1agldynmds 2 gn wilsuiunismivAussuudninelaaniisiva
Agatienaadasuanssauslun1suszendldn1sussuuAIdns V8189890 IATUANLUY

Uaunadumdey 19N Te NN usIn T

'
o

91n3UT 6.160) Uaz6.170) laNaTadeausTauglun1IAIUANILNU YA

¥

d09 aussauglumsmuauAndgamausn fwlsan1izannsuseaiainisusudigan
=] ! (% ! @ ! (Y PN = ! o o A
Wanglaand nadsnaideanunsanandlugurese IAE Aw5eil 6.7 Banuingaaded

@83l IAE AN waTINAFUY Talvewmai19sEnIndduUsatuaniuAnd mangly

Av a

FHIAVINTAIUANTLUUATIIAINTT wenINilnavesaussaueAnafuanssionidi

WUSANNIZAINLATOILDINVBING 2 69 AU 6.119) WAy 6.12%9) IngnulINAIfwUIaNNY

Y



52

MniAdesiletnvais 2 & anunsagiingantminglduazdamuilumsgidunnduan
MsruAusEYRMATiaes Snvazraiinaandisiudsuanutuierfunismunusyuua
fameldFanmeasian Fasefinnsananssuudiinelfanngldfvaan oz
glagnnlumsmuauunnIdesansinifianginssunsnovausauunsiiud adungingsy
miLU?{EJuLLUaqmaaﬁmﬂimuaﬂuamﬁﬁmq %QLﬁaﬁf\]’lim’lﬁ]’mﬂi’W\nugﬂﬁ 6.12n) Wag
6.129) nuhdnuurnisdsuslasweaful siaiulsaniizainnisUssinaasfauds
annzatniaiesiledn diantanisiudsunvadllufienafendu lduanangingsunig
POUALDIUUNTITN KafinduansEI LA TnvessnleuiEmuaieidoauety
anunsndnnistunginssunisnevaussuuunssiudiuld vildnsmuauszdudindullly
fimmadedadufiemefiasshliiudsauaniuansogdngandmne
Tudunisiansaniaiesnmszuuveanisauauiefeuauiliszideuisnis
muguaLfiAdaauetiunut szuuiinediadosninlunisauay Afulsaniazan
MsUszanaarAfLUsanzneieslieinainsadigan gl naidulumuannns

= ) = = v X N aa A aw
Lﬂau‘lGUIUﬂqiﬂ53ﬂuuﬁﬂﬂiﬂ’]W%QQﬂﬁi'NGUUﬂ']Eﬂu53LUEJU?ﬁﬂqiﬁjUﬂﬂququqf\]ﬂLau@

01 ><x><z<x><x¥xxx9<>‘<5<x>-(>'<>'<";<;<’<x)-<§%<y
~~ x ..
e x °
Q -5 1 X e
© X e
S
7] .

3 .
+— X
C .10 4
£

=

2]

L

Off-line robust constrained output feedback MPC
Off-line robust constrained output feedback MPC
with output feedback gain interpolation

-15 4

X

'20 T T T T
0 100 200 300 400

Time(sec)

A1) ANUFUNUSTEUINAIRIUTENIZN 1INN1TUTEUN

TusUsudsideauuiuiam



Outputl(cm)

2
0 4 X X K o« X g g XK gxXX
xxi(xfk'xx"xx° X ¢ e ¥
2 X"
X
-4 - X o
X
-6 L
-8 1 X .
o
-10 + e
¥
-12 4
-14 1 «  Off-line robust constrained output feedback MPC
x  Off-line robust constrained output feedback MPC
-16 7 with output feedback gain interpolation
'18 T T T T
0 100 200 300 400
Time(sec)

53

Y} 'y} 6 1 1 LY} U d‘ d‘ = o L% Q‘I %
) ﬂ’J’]‘J,JﬁﬂJWUSiSﬁ?’Nﬂ’]ﬁnLLUiﬁﬂﬂﬂum%1ﬁ]ﬂﬂLﬂi@ﬂm@’JﬂﬁLugUWALL‘UiLUENL‘U‘Lm‘ULDm

Estimated state2(cm)

U 6. 16 Han sauAusAutludalui 1

4
2 .
0 - x X xx g ExExxx I
x X e o
X X X . ¢
-2 A x <, <o
X .
% .
4 x
X e
X L]
-6 - -
X

-8 A

¢ Off-line robust constrained output feedback MPC

x  Off-line robust constrained output feedback MPC
-10 3 . P :

with output feedback gain interpolation
'12 T T T T
0 100 200 300 400

Time(sec)

A1) ANUAUNUTTEMINANRILUTANIEN291nNNTUTEU

Tuguduusideavuiuig



54

2
¥
0 A x xxg<><2<;<z<>'<>.(;(’.< ¥ ¥
xx Xt :
x X e ® o
-2 4 X X X .
X . ¢ ‘
X .
’E\ -4 A X .
) X o
g x
=] .
O 8.
-10 A
e Off-line robust constrained output feedback MPC
-12 4 x  Off-line robust constrained output feedback MPC
with output feedback gain interpolation
'14 T T T T
0 100 200 300 400

Time(sec)

Y} 'y} 6 1 1 LY} %3 d‘ d‘ = (% L% QII %
) mmamwusnmwﬂwmLLUiam’JﬂummmﬂLﬂiaqmaamiugUmaLLUiLUENLWﬂULam

JUN 6. 17 mansauauszautlugaluyl 2

.04
— —— Off-line robust constrained output feedback MPC
| — — —  Off-line robust constrained output feedback MPC
03 1 | with output feedback gain interpolation
I
I
024 |
I
= I
S o1
Ll
>
0.00 A
-.01 1
'02 T T T T
0 100 200 300 400
Time(sec)

U 6. 18 anduususunteuliuntusin 1 lugusudsideauuy



u,(volt)

0.00 H

-.02 A

Estimated state2(cm)

.08

06 |

.04 -

.02 A

Off-line robust constrained output feedback MPC
— — — Off-line robust constrained output feedback MPC
with output feedback gain interpolation

'04 T T T T
0 100 200 300 400
Time(sec)

U 6. 19 anduususunteuliuntdusian 1 lugduwdsidesuu

2
e  Off-line robust constrained output feedback MPC
0 - X Off-line robust constrained output feedback MPC
with output feedback gain interpolation
-2
x .>$
X L]
-4 - X . °
X o
x L]
-6 .
.
* X
-8
-10 A x
'12 T T T T T
-25 -20 -15 -10 -5 0

Estimated statel(cm)

U 6. 20 dunmsivaguuUaidiiulsan1igannisusyanm

Iugﬂmaaﬁumnﬁmwu

55



56

Tugﬂﬁ 6.20 zuaAIAMTIEUMINMIIUABULYAsAFILUTAN 1T INNTUTEI
FauanslugUvessudsideauy mngudsnanuandiifiuin a nandedtu yamdsdiaeds
fin1suseyndlinisussanurdnsvengvesinuaukuudaunduAdyyIuI0anTEning
wnBugmsaianunsamuauliafuusanzainnisussaasisaesarlndidsaiue

Wwnegunnilagissuudemadiiatesnmlunsaiuny

M1597 6. 7 Uayan IAE

v
o

o d' a o
AMTIN 2 (UIVUTUD)

SR
ho)
D
D
o)}
P2y
=h.

SR

[

A Y o
i$ﬂﬂﬁﬂ\1ﬂ181§]ﬁﬂ1’)$!7‘lﬁ@1’§fﬂ

Joyamanlsannziinnmsilszum 1332.68 1187.48
9
U0y

' o

amalsanzizanmslssuna 1352.91 1233.88

U

[

szuvadeneldaning luliladiga

doyamdaulsanzninnnslszuna 923.66 773.64

9 1w

"U'é)qu,aﬂW]']!Lﬂ‘iﬁfln%‘ﬁ%ﬂﬂﬂﬁﬂigiﬂﬂ! 883.08 602.68




57

unil 7 ajUnan1siag

TurmAfeilfiauesudeuBnmuaudsihueuuusassamunuveelaineld
vauLunA1u ik iuauvalndlni laen1susvandldiiussunumifinlsaniie uwag
UszgnalinisussanarsnsvensvesinmiuaukuudaunduAdyayuvIsanseninenty
ganseiiieldmuauszuuadedudussuuiianansolfidusunuveanszuiuniandaly
gnamvnsaulaidesannifuszuudelidnuarvesaunmsuuuiaedliifudadu T5uauduus
uAuLaEFUUTUS I mie Taadussuuiianansafnvideuluieg neluszuy
gy Wouluveaduususu Heulwwessulsdyaiauieen gy uona N sruUAdads
ansasfiumsmelianizasauuusmeiu Ae anneadiigauaylifivlamanlneende
MsUFund@iiituaz2 Tussuu TumsveaesnismuauiussuuaAs asmuauseiUvosdsd
1 wae 2 Inefnwin1smueussuudAdeiaosane efinwdnvmuznismunudsihuie
wuudaesasmuiuvoesilal iWefinsuszgndldmlssanuaduUsannzuasnisUssana
A1NT1VE18BIFIMIUANLUUTBUNTUA e 10UV10BNTENTNUNYNEULINTS suTndey
aussaULYRIN1sUsTENAliNITUTELIMANERIIIE 18R IRIAUANLUUT B UNAUAE ey 10U
ponsEwhaaBusmss Swamsmuausyuuaiansoaguldnunsdsed

7.1 ANWAZNITAIUANLTITUIBLUUTIaaAInuLUUaanlall ialin1sUssyndldda
UszuaA1AuUsan1921aen15UssNIuA19n 31818 Ua9A IR UANLUUTaUN A UAT
AYIUVIDBNTZNINUTAT U N TSI

NNHANMIVIAABINUIIMIAIUAMENINeLUUTaesamuLuueewlatdsUsgneld
MUszanaAfLUTaNITLAENTUTEMANER 18RRI UANKUUTBUNT UANd B
YeeNIEeniusmss annsldinmuaussuuddineldaamzaianuas lsifivadan
lalnesuysmuauannsagiidgantmngldlasfissuuiindamnuaiosnm

7.2 su1lguiEmsauANnnuideiauaiang AnTsNN1TRaUALRILUUATITY

MnuanmInaasmuiszdeuiBnsmuaniiiuiselaueannsadansiunginssu
nsneuausskuuasiialaetnAndufuszuudsiiiunsmeldanglifiasan ns
Jansdsnanwiliismainisasuiasmesiduusmuesifiamaodaduiianisuns
diindathming wadindrshliniseuanszuuiissavsamannninsdiisaaiuaudul
fanuaunsalun1sIaNTsAuNgANIINNITNBUANBILUUATITY



58

7.3 aussauzlunisuszendldnisuszunufidnsnvensvasniaruauuuutaunduan
AU IUVIDDNTENINUYATULINTST

INNANITNARBINUTINITUTENALEN1TUTEUIUAITATIVY18VBIAIAIUANLUY
Uoundumdayey1v180nseniaendugansassiliuisn1smuauuinuekuuiaeInmu
wuveeslatiflefinsuszgndldmlszanamfuusaniiy Profivaussaurlunsmuay
Tnesuusmuauanasagiingandmngléiidulnefiszuuiined anuaiesniw 91nua
FnanuansliiiuitszeuitnismuauilenAdoiaueTanssougfiiniinisuguida
vhuneuuuiassnwuiiifouludifuamunuuoesilatiund



S18N15919949

[1] Kothare, M.V., Balakrishnan, V., and Morari, M. Robust constrained model

predictive control using linear matrix inequalities. Automatica 39(2003) : 837-846.

2] Wan, Z., Kothare, M.V. An_efficient off-line formulation of robust model

predictive control using linear matrix inequalities. Automatica 39(2003) : 837-846.

(3] Bumroongsri, P., and Kheawhom, Interpolation-based Off-line Robust MPC for

Uncertain Polytopic Discrete-time Systems. Engineering Journal 18(2014) : 87-104.

[4] Zhaoyang Wan, Mayuresh V.Kothare, Robust output feedback model

predictive control using off-line linear matrix inequalities. Journal of Process Control
12 (2002): 763-774.

(5] Sukapradit Araya, LINEAR PARAMETER VARYING MODEL PREDICTIVE CONTROL
OF QUADRUPLE-TANK SYSTEM, Master’s Thesis, Department of electrical engineering,
Faculty of engineering, Chulalongkorn University, 2009.

(6] Poontong Pramesak, Robust MPC based on nominal performance cost with

application in quadruple tank system, Master’s Thesis, Department of electrical

engineering, Faculty of engineering, Chulalongkorn University, 2011.

[7] Johasson, K.H. The quadruple-tank process: A multivariable laboratory process

with adjustable zero. IEEE Transactions on Control Systems Technology, 2000.
8(3):456-465

(8] Rusli, E., S. Ang, and R.D. Braatz, A Quadruple-tank process control
experiment. Chemical Engineering Education, 38(2004) : 174-18.

9] Morari, M., and Lygeros, J. IfA Fachpraktikum Quad Tanks. Automatic Control
Laboratory 18(2010) : 22-35.




60

[10] Dale, E. Seborg, Thomas, F. Edgar, Duncan A. Mellichamp and Francis, J. Doyle
I, (2011). Process Dynamics and Control (3™ ed.). John Wiley & Sons (Asia) Pte Ltd:

John Wiley & Sons, Inc.



ANARNUIN

61



62

AANUIN N

n1sdauiisuaunIaingtaingnsnisiva

Tunsnsiaindnsinisivameinsestionsiainuudndudesdinisaeuifisugunsal

feunnasuielirielannaIesileininugnienga aunsalngiaindnsinisivaly

4 1

srUvdieiimeniu 4 i legldindnsnisivavestainduneutnusazas dagunsalazds

o

doyayraumalnifinlugae 4-20 daduend vve 0-10 1ad Ineadyauazgndsludioninluds

1 o

Sudyeradunieliad 015gluszuuasmussnulninduadyaralugi 0-1023 Tuns
aouifisugunsaiiuardufvensnanisvannuihaedosdiofouasdynyiaitorigliuag
a1 5 90 udmldaunsdunsaduiunudeya nanisaeuiisuvesgunsaingiainnis
navia 4 Fauanafaguil n.1-n.4 2annsivie 4 wudrannsalfaunindunsaunudoyald

dl 1 U a Q‘ U a a1 ¥ ¥ 4!
\Wesan Adulszdnsvesnisdndula (R square) Aandlnands

14
12 /
E 10
€
> 8
¥ e
® 6 y=0.014x-0.3701 ¢ Flow sensorl
3 R%=0.9998
2 4 / — Linear
2
0 /
0 200 400 600 800 1000 1200

Signal

v ! Y

a o 1 A4 A o A
E‘U‘V] .1 F’]'J']llallWUﬁig‘Vi'ﬂ\‘iﬂqamiqﬂqﬁlﬂaf\ﬂﬂwuqﬂﬂL?"Iﬁ@ﬂllafmﬁ/]1

L 5

fumdyaaainetialy

A7)



Flow rate (L/min)

Flow rate(L/min)

14

12

10

14

12

10

=0.0142x - 0.4706
/ y s X ¢ Flow sensor2
R4=1
/ — Linear
(P 200 400 600 800 1000 1200
Signal

JUN 1.2 Anuduiusseninednsnsivannuiaesedleini2

U I s

fumdyeaanetialy

A
A

/ y= 0.014x - 0.0829 ® Flow sensor3

R?=0.9999

—— Linear

e
-

0 200 400 600 800 1000

signal

'
v v € I v

a 1 o A4 A o A
EU‘V] .3 AU ‘uﬁiz‘mwmamiﬂmﬂwamn‘wmﬁﬂLma\mmm‘vﬁ

[ o

furdyay1aianensgli

A7)

63



[ T S T Y
o N M O

Flow rate(L/min)

o N B O ©©

64

e
e

/ y = 0.0143x - 0.2888 ¢ Flow sensor4
R?=0.9998 —— Linear
0 200 400 600 800 1000 1200
Signal

JUN n.4 enuduiiussenieAdasnisivannuihdaniesdeinid

fuedyanainensoly



65

AANUIN UV

n1sdauLiBuaUnIalnTaiausInu

wWuigatumenuan n lunsdaueissiionsiniadusndudosdinsaeuiiio
gUnsaifeunnads gunsainmaTaussiulussuudineddetu 4 & gnansslilidaudasly
Tngl#nusasuiifuds fgunsaiazdedyaramaliitlugag 4-20 faduend ugunsal
wasnszualin Fsazuvasnszualnindunssiuliiidoudadiensglu Tunisasuiiiey
a;dﬂiaiLLsiazﬁaﬁ?u%émmizﬁuﬁwLLazﬁ’agayﬂmﬁm%@MLLUmmaﬁ”lmu 9 9a wdldaunis
dunsadudunudaya nansasuLisuvesgUnIninTIaTauseui 4 FuansfsguT v.1-.
4 9annsmiiia 4 Wudﬁawmiﬂ%mmﬂé’umqLmu%gaiéfﬁawm AduUszansveInIs

finaula (R square) Aadlnandls

90
80
70
60
50
40
30
20
10

y = 0.0954x - 8.072
R2=1

® Pressure sensorl

h1(cm)

Linear

10 © 200 400 600 800 1000

Signal

JUT 2.1 anuduiusseninenseauinngludanifuadyaianinenioly



h2(cm)

h3(cm)

90
80
70
60
50
40
30
20
10

y =0.0976x - 11.798
RZ=1

——Linear

10 @ 200 400 600 800 1000
Signal

JUN 0.2 anuduiusseninaseauinngludm2iuandyaianinesali

90
80
70
60
50
40
30
20
10

y =0.1044x - 7.3876
RZ=1

Linear

10 © 200 400 600 800 1000

Signal

JUT 9.3 anuduiusseninenseauinagludan3iuadyaaainensoly

@ Pressure sensor2

@ Pressure sensor3

66



h4(cm)

90
80

67

y = 0.0859x + 1.0383
R?=0.9997

@ Pressure sensor4

—— Linear

0 200 400 600 800 1000
Signal

JUN v.4 anuduiusseninaseauinnegludmdiuandyaianinesali



68

AANUIN A

yamamldlunisnagauszuudis

TuidetianagamdsludiuresnIsnaga uansTousaIlu N1SNAABUTEUUEN N

'
o o

anzaslaryamdlunismuaussuvaiumeldanneamaauazliiianan

v.1 yaddslunismaseuanssausvesuniae i
%% %% %% %% %% %% %%%%%% Test performance of pumps %% %% %% %% %% %% %% %% %

round=1000; % Estimate 42 second

n=round*11; % Number of input step

% Create zero matrixes to collect data
F1 d=zeros(n,2); % Flow rate of pumpl
F2 3=zeros(n,2); % Flow rate of pump2
time=zeros(n,1);

%

for i=1:n

i

tt=clock;

time(i,1)=tt(5)+tt(6)/60; % Collect time data (min)

if i>=round*10+1
a.analogWrite(7,105); % Send 2.06 volt to the inverter of a pump1
a.analogWrite(6,105); % Send 2.06 volt to the inverter of a pump2
elseif i>=round*9+1
a.analogWrite(7,104); % Send 2.04 volt to the inverter of a pump1
a.analogWrite(6,104); % Send 2.04 volt to the inverter of a pump2
elseif i>=round*8+1
a.analogWrite(7,103); % Send 2.02 volt to the inverter of a pumpl
a.analogWrite(6,103); % Send 2.02 volt to the inverter of a pump2
elseif i>=round*7+1
a.analogWrite(7,102); % Send 2 volt to the inverter of a pumpl
a.analogWrite(6,102); % Send 2 volt to the inverter of a pump?2
elseif i>=round*6+1
a.analogWrite(7,101); % Send 1.98 volt to the inverter of a pump1
a.analogWrite(6,101); % Send 1.98 volt to the inverter of a pump2



elseif i>=round*5+1
a.analogWrite(7,100); % Send 1.96 volt to the inverter of a pumpl
a.analogWrite(6,100); % Send 1.96 volt to the inverter of a pump?2
elseif i>=round*d+1
a.analogWrite(7,99); % Send 1.94 volt to the inverter of a pumpl
a.analogWrite(6,99); % Send 1.94 volt to the inverter of a pump2
elseif i>=round*3+1
a.analogWrite(7,98); % Send 1.92 volt to the inverter of a pumpl
a.analogWrite(6,98); % Send 1.92 volt to the inverter of a pump?2
elseif i>=round*2+1
a.analogWrite(7,97); % Send 1.9 volt to the inverter of a pump1
a.analogWrite(6,97); % Send 1.9 volt to the inverter of a pump2
elseif i>=round*1+1
a.analogWrite(7,96); % Send 1.88 volt to the inverter of a pumpl
a.analogWrite(6,96); % Send 1.88 volt to the inverter of a pump?2
else
a.analogWrite(7,95); % Send 1.86 volt to the inverter of a pumpl
a.analogWrite(6,95); % Send 1.86 volt to the inverter of a pump?2
end

% Receive flow rate from flow meters
F1 4(,1)=0.014*a.analogRead(11)-0.37; % Flow rate from a flow meterl [L/min]
F1 4(,2)=0.014*a.analogRead(10)-0.288; % Flow rate from a flow meterd [L/min]
F2_3(i,1)=0.014*a.analogRead(8)-0.47; % Flow rate from a flow meter2 [L/min]
F2_3(i,2)=0.014*a.analogRead(9)-0.082; % Flow rate from a flow meter3 [L/min]

% Collect flow rate of pumps
F14=F1 4(,1)+ F1_4(i,2); % Flow rate of pumpl
F23=F2_3(i,1)+ F2_3(i,2); % Flow rate of pump2

end

% Save variables to file excels to plot graphs with SigmaPlot program
xlswrite('pump_minimumphase.xts',F1_4(1:n,1)+F1_4(1:n,2),1,B5)
xlswrite('pump_minimumphase.xts',F2_3(1:n,1)+ F2_3(1:n,2),1,C5")

%
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%% vertices of polytopic uncertainty
A1=[1-0.01];B1=[1*0.01];B2=[100*0.01];
A2=[1-0.1];,B3=[1%0.1];B4=[100*0.1];

%% Find state feedback gain(Ks)

QQf=1; % weighting matrix

Rf=1; % weighting matrix

nu=1; % number of input variable

nx=1; % number of state variable

f=[30 15 10 6 3 2 1]; % initial flow rate to find pre-computed state feedback gains(Ks)
[rf rc]=size();

n=rc; % number of pre-computed state feedback gains

% Create zero matrix to collect data

k=zeros(1,1,n); % pre-computed state feedback gains matrix (k()=y()*inv(c(i))
g=zeros(1,1,n);

y=zeros(1,1,n);

%

fori=1:n

yalmip('clear')

ops=sdpsettings('solver','sedumi’);

% Declare variable
Y=sdpvar(nu,nx);
Q=sdpvar(nx,nx);
G=sdpvar(1,1);

%

I1=eye(nx); % state identity matrix
12=eye(nu), % input identity matrix
F=f(i);
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% Robust stability constraints

Q>=0];

J[1 F;F QI>=0]; % Invariant ellipsoid

[Q (Q*A1'+Y™B1") Q*(QQfA0.5) Y*(RfAQ.5);(A1*Q+B1*Y) Q zeros(nx,nx) zeros(nx,nu);(QQfA0.5)*Q
zeros(nx,nx) G*I1 zeros(nx,nu);(RFA0.5)*Y zeros(nu,nx) zeros(nu,nx) G*12]>=0];

C=[C,[Q (Q*A1'+Y™*B2") Q*(QQfA0.5) Y*(RFA0.5);(A1*Q+B2*Y) Q zeros(nx,nx) zeros(nx,nu);(QQfA0.5)*Q
zeros(nx,nx) G*I1 zeros(nx,nu);(RFAQ.5)*Y zeros(nu,nx) zeros(nu,nx) G*12]>=0];

C=[C,[Q (Q*A2'+Y™*B3') Q*(QQfA0.5) Y*(RfA0.5);(A2*Q+B3*Y) Q zeros(nx,nx) zeros(nx,nu);(QQfA0.5)*Q
zeros(nx,nx) G*I1 zeros(nx,nu);(RFAQ.5)*Y zeros(nu,nx) zeros(nu,nx) G*12]>=0];

C=[C,[Q (Q*A2'+Y*B4") Q*(QQfA0.5) Y*(RfA0.5);(A2*Q+B4A*Y) Q zeros(nx,nx) zeros(nx,nu);(QQfA0.5)*Q

zeros(nx,nx) G*I1 zeros(nx,nu);(RFAQ.5)*Y zeros(nu,nx) zeros(nu,nx) G*12]>=0];

C=l
C=[C
C=[C

% Input constraints
C=[C,[0.49A2 Y;Y" Q]>=0];

% Solve

solvesdp(C,G,0ps);

% Collect state feedback gain
q(:,;,)=double(Q);
y(;,;,)=double(Y);
k(:,:,)=double(Y)*inv(double(Q));
%

end

save('controller gain 14'k'/'q) % save variable to controller gain 14.mat

¥.3 yaarasluvasianruaugusesiizludiuassnisaiuiadidnsnverswvudounduiiulily
gudayanay

%% vertices of polytopic uncertainty
A1=[1-0.01];B1=[1*0.01];B2=[100%0.01];
A2=[1-0.6];,83=[1*0.6];B4=[100%*0.6];

%% Find state feedback gain(Ks)

QQf=1; % weighting matrix
Rf=1; % weighting matrix
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nu=1; % number of input variable

nx=1; % number of state variable

f=[30 15 10 6 3 2 1]; % initial flowrate to find state feedback gain(Ks)
[rf rc]=size(f);

n=rc; % number of pre-computed state feedback gains

% Create zero matrix to collect data

k=zeros(1,1,n); % pre-computed state feedback gains matrix (k(i)=y()*inv(q(i)))
g=zeros(1,1,n);

y=zeros(1,1,n);

%

for i=1:n

yalmip('clear)

ops=sdpsettings(‘'solver','sedumi’);

%Declare variable
X=sdpvar(nu,nu);
Y=sdpvar(nu,nx);
Q=sdpvar(nx,nx);
G=sdpvar(1,1);

%

l1=eye(nx); % state identity matrix
12=eye(nu); % input identity matrix
F=f(i);

% Robust stability constraints

C=[0>=0];

C=[C,[1 F';F QI>=0]; % Invariant ellipsoid

C=[C,[Q (Q*A1'+Y™*B1") Q*(QQfA0.5) Y*(RfA0.5):(A1*Q+B1*Y) Q zeros(nx,nx) zeros(nx,nu);(QQfA0.5)*Q
zeros(nx,nx) G*I1 zeros(nx,nu);(RfA0.5)*Y zeros(nu,nx) zeros(nu,nx) G*12]>=0];

C=[C,[Q (Q*A1'+Y™*B2") Q*(QQfA0.5) Y*(RfA0.5);,(A1*Q+B2*Y) Q zeros(nx,nx) zeros(nx,nu);(QQfA0.5)*Q
zeros(nx,nx) G*I1 zeros(nx,nu);(RfA0.5)*Y zeros(nu,nx) zeros(nu,nx) G*12]>=0];

C=[C,[Q (Q*A2'+Y"*B3") Q*(QQfA0.5) Y*(RfA0.5);,(A2*Q+B3*Y) Q zeros(nx,nx) zeros(nx,nu);(QQfA0.5)*Q
zeros(nx,nx) G*I1 zeros(nx,nu);(RfA0.5)*Y zeros(nu,nx) zeros(nu,nx) G*12]>=0];

C=[C,[Q (Q*A2'+Y™*B4") Q*(QQfA0.5) Y*(RfAQ.5),(A2*Q+B4*Y) Q zeros(nx,nx) zeros(nx,nu);(QQfA0.5)*Q

zeros(nx,nx) G*I1 zeros(nx,nu);(RFAQ.5)*Y zeros(nu,nx) zeros(nu,nx) G*12]>=0];
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% Input constraints
C=[C,[0.098/2 Y;Y' Q]>=0];
% Solve

solvesdp(C,G,ops);
% Collect state feedback gain
q(:,;,)=double(Q);
y(;,;,)=double(Y);
k(:,:,)=double(Y)*inv(double(Q))
%

end
save('controller_gain 23''K','q) % save variable to controller gain 23.mat
.4 YAAAIIUNITNAHDUTTUUTALNDNIAIEN1ITAAA

nu=2; % Number of input variables (flow control loop)
nx=2; % Number of state variables (flow control loop)
fss=[15.5;16]; % Flow rate setpoint

d=2000; % Rounds of sampling

% Create zero matrixes to collect data

input=zeros(d,nx); % Deviation of input variable (volt)
input_pump=zeros(d,nx); % Signal from Arduino to inverters
input_uC=zeros(d,nx); % Input (volt)

flow=zeros(d,nx); % Deviation of flow rate (L/min)
f=zeros(d,nx); % Flow rate (L/min)

time=zeros(d,1); % Time (min)

output=zeros(d,nx); % Level of water in each a tank (cm)

%

it=1;
clear sum erl;
clear sum er2;

for i=1:d

tt=clock;
time(i,1)=tt(5)+tt(6)/60; % Collect time data



% Receive signal from pressure sensors pass a Arduino
for j=1:5 % Random 5 samples of each a pressure sensor
h1 sig(j)=a.analogRead(3); % pressure sensorl
h2_sig(j)=a.analogRead(5); % pressure sensorl
h3 sig(j)=a.analogRead(2); % pressure sensorl
hd sig(j)=a.analogRead(4); % pressure sensorl
end
% Level of water in each a tank (cm)
h1=0.095*median(h1 sig)}-8.072 % tankl(cm)
h2=0.097*median(h2_sig)-11.79 % tank2(cm)
h3=0.104*median(h3 sig)-7.387 % tank3(cm)
h4=0.085*median(hd sig)+1.038 % tankd(cm)
% Collect level of water in each a tank (cm)
output(i,1)=h1; % tankl(cm)
output(i,2)=h2; % tank2(cm)
output(i,3)=h3; % tank3(cm)
output(i,d)=hd; % tankd(cm)
% Receive signal from flow meters pass a Arduino
for j=1:5 % Random 5 samples of each a flow meter
f1())=0.014*a.analogRead(11)-0.37;
2())=0.014*a.analogRead(8)-0.47;
3())=0.014*a.analogRead(9)-0.082;
f4(j)=0.014*a.analogRead(10)-0.288;
end
%
F=[median(f1)+median(f4)-fss(1);median(f2)+median(f3)-fss(2)]; % State variable of a flow
control loop
f(i,1)=median(f1)+median(fd); % Flow rate of a pump1
f(i,2)=median(f2)+median(f3); % Flow rate of a pump2

%% Find input variable for flow control loop1
load controller gain 14
n=7; % Number of pre-computed state feedback gain

clear K;

if i==1
x1=F(1);
else
x1=f(i,1)-f(i-1,D)+x1; % x1()-x1(-1)=f(i,1)-f(i-1,1)

end
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% Choose k that state variables is member of ellipsoid invariant set
if  x1%inv(g(:,;,n)*x1<=1;
K=k(:,:,n);
elseif x1*inv(q(;,;,n-1))*x1<=1;
K=k(:,:;,n-1);
elseif x1*inv(q(;,;,n-2))*x1<=1;
K=k(:,:;,n-2);
elseif x1*inv(q(;,;,n-3))*x1<=1;
K=k(:,:;,n-3);
elseif x1"¥inv(q(:,;,n-4))*x1<=1;
K=k(,:;,n-4);
elseif x1*¥inv(q(;,;,n-5))*x1<=1;
K=k(:,:,n-5);
elseif x1*¥inv(q(;,;,n-6))*x1<=1;
K=k(:,:;,n-6);
end
%
u(1)=K*x1; % Deviation of inputl (volt)

%% Find input variable for flow control loop2
clear K;
load controller gain 23
n=7; % Number of pre-computed state feedback gain
if i==
x2=F(2);
else
x2=f(i,2)-f(i-1,2)+x2; % x2(i)-x2(i-1)=Af(i,1)-(i-1,1)
end

% Choose k that state variables is member of ellipsoid invariant set

if  x2%inv(q(:,;,n))*x2<=1;
K=k(,:,n);

elseif x2*inv(q(:,;,n-1))*x2<=1;
K=k(:,:;,n-1);

elseif x2*¥inv(q(:,;,n-2))*x2<=1,
K=k(:,:,n-2);

elseif x2*inv(q(;,;,n-3))*x2<=1;
K=k(:,;,n-3);

elseif x2*inv(q(:,;,n-4))*x2<=1;
K=k(:,:,n-4);
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elseif x2*inv(q(:,;,n-5))*x2<=1;
K=k(:,;,n-5);

elseif x2*inv(q(;,;,n-6))*x2<=1;
K=k(:,:;,n-6);

end

%

u(2)=K*x2; % Deviation of a input2 (volt)

% Collect deviations of input
input(i,1)=u(1); % deviation of inputl
input(i,2)=u(2); % deviation of input2
% Input variable
if i==
ulC=u(1)+(5/255)*100;
u2C=u(2)+(5/255)*100;
else
ulC=input(i,1)-input(i-1,1)+input_uC(i-1,1);
u2C=input(i,2)-input(i-1,2)+input_uC(i-1,2);
end
% Collect input variables (volt)
input_uC(i,1)=ulC; % inputl (volt)
input_uC(i,2)=u2C; % input2 (volt)
% Convert input (volt) to signal [0-5v to 0-255]
U1=int8(u1C*(255/5))
U2=int8(u2C*(255/5))
% Collect signal
input_pump(i,1)=U1;
input_pump(i,2)=U2;

% Send signal to control a pumpl and a pump2

a.analogWrite(7,U1); %pumpl

a.analogWrite(6,U2); %pump?2
%

flow(i,:)=F"; % Collect deviation of flow rate (volt)

% Stop pump2 when i==final round of sampling
if i==d
a.analogWrite(6,0);
a.analogWrite(7,0);
end

end
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%Save variables to excel file to plot graphs with SigmaPlot program

xlswrite('steady state.xls',input_pump(:;,1)-100,1,B5)

xlswrite('steady state.xls',flow(;,1),1,'C5")

(
xlswrite(
(

xlswrite('steady state.xls',flow(;,2),1,'F5")

xlswrite('steady state2.xls',output(;,1),1,B5")
xlswrite('steady state2.xls',output(:,2),1,/C5"
xlswrite('steady state2.xls',output(:,3),1,D5")

xlswrite('steady state2.xls',output(:,4),1,'E5"

(
steady state.x(s\input_pump(;,2)-100,1,'E5")
(

%

e

4.5 yamdslun1satuaNszaulnludwnilauazdiaas TudauraenisAIuInAIgn 198180 IAUAY

wuudaunaudyyavieanuasAdnsivenevasiauszanaaduusanunul flugudeyareu

%%%%This file will find pre-computed output feedback gain(K) and estimator gain(Lp)%%%%

yalmip('clear)

clear all

%% Constant value

at=160.6; %Cross-section area of each tank [cm/A2] , Dtank=14.3cm

g=981; %Gravity force[cm/sA2]

% Minimumphase case

%h15=40.32;
%h2s=42.89;
%h3s5=16.63;
%hds=23.66;

%Water level of tankl at steady state [cm

(
%Water level of tank2 at steady state [cm
%Water level of tank3 at steady state [cm
(

— /e e

%Water level of tank4 at steady state [cm

% Non-minimumphase case

%h1s=24.9;
%h2s=24.82;
%h35=39.26;
%hds=38.56;
%

h1s=40.32;
h2s=42.89;
h3s=16.63;
hds=23.66;

%Water level of tankl at steady state [cm]

%Water level of tank2 at steady state [cm
%Water level of tank3 at steady state [cm
%Water level of tankd at steady state [cm
%Water level of tankl at steady state [cm
%Water level of tank2 at steady state
%Water level of tank3 at steady state

cm

ellruilruili-v

]
]
cml]
%Water level of tank4 at steady state [cm]

% Minimumphase case

%hn=4; %Minimum level of water in each tank[cm]

%hx=50; %Maximum level of water in each tank[cm]



% Non-inimumphase case

%hn=8; %Minimum level of water in each tank[cm]

%hx=45; %Maximum level of water in each tank[cm]

%

hn=4; %Minimum level of water in each tank[cm]

hx=50; %Maximum level of water in each tank[cm]

% Minimumphase case
%dt=10; %Sampling time

% Non-inimumphase case

%dt=

%

12; %Sampling time

dt=10; %Sampling time

nx=4;

%Number of state;

nu=2; %Number of input;

%% Vertices of matrix A

% Minimumphase case

%f1ss=10.85; % flow from pump1 to tankl
%f2s5s=11.35; % flow from pump2 to tank2
%f3ss=4.65; % flow from pump2 to tank3
%fdss=4.7; % flow from pumpl to tankd

% Non-inimumphase case

%

%flss=1.55; % flow from pumpl to tankl
%f2ss=1.76; % flow from pump2 to tank2
%f355=8.9; % flow from pump2 to tank3
%fdss=10.24; % flow from pumpl to tank4

% flow at steady state (L/min)

f155=10.85; % flow from pump1 to tankl
f255=11.35; % flow from pump2 to tank2
f3ss=4.65; % flow from pump2 to tank3

fdss=4.7;

% flow from pumpl to tankd

% mi at steady state

m1ss=((f1ss+f355)*1000/60)/sqrt(h1s); % Qpipel=m1*sqrt(h1)

CM3/S 1S 1000/60

m2ss=((f2ss+fdss)*1000/60)/sqrt(h2s); % Qpipe2=m2*sqrt(h2)
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m3ss=(f3ss*1000/60)/sqrt(h3s); % Qpipe2=m3*sqrt(h3)
mdss=(fdss*1000/60)/sqrt(hds), % Qpipe2=md*sqrt(hd)

v1ss=dt*m1lss/at;
v2ss=dt*m2ss/at;
v3ss=dt*m3ss/at;
vlss=dt*mdss/at;

tin=1/(sgrt(hn));
t2n=1/(sqrt(hn));
t3n=1/(sqrt(hn));
tdn=1/(sqrt(hn));

tix=1/(sqrt(hx));
t2x=1/(sart(hx));
t3x=1/(sqrt(hx));
tdx=1/(sqrt(hx));
hss=[h1s;h2s;h3s;hds]; %Water level of at steady state [cm]

hnb=[hn-h1s;hn-h2s;hn-h3s;hn-hds]; %Minimum deviation value of each tank
hxb=[hx-h1s;hx-h2s;hx-h3s;hx-hds]; %Maximum deviation value of each tank

t1ss=1/(sqrt(h1s));
t2ss=1/(sqrt(h2s));
t3ss=1/(sqrt(h3s));
tdss=1/(sqrt(hds));

% Matrix A at steady state

Ass=[1-v1ss*tlss 0 v3ss*t3ss 0;0 1-v2ss*t2ss 0 vass*tdss;0 0 1-v3ss*t3ss 0;0 0 0 1-v4ss*tdss];
%

vt_A=2A5; % Number of vertices

ex=1.3; % Maximum deviation from CV at steady state is CV +30%

en=0.7; % Minimum deviation from CV at steady state is CV +30%

%This state, every tank have minimum level of water
hbl=hnb;
% +30% error of CV from CV at steady state
al=[1-vlss*tln*ex 0 v3ss*t3n*ex 0;0 1-v2ss*t2n*ex 0 vd4ss*tdn*ex;0 0 1-v3ss*t3n*ex 0;0 0
0 1-vdss*tdn*ex];

Al=[al+(a1-Ass)*hss*pinv(hb1)];
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% -30% error of CV from CV at steady state
a2=[1-vlss*t1n*en 0 v3ss*t3n*en 0;0 1-v2ss*t2n*en 0 vdss*tdn*en;0 0 1-v3ss*t3n*en 0;0 O
0 1-v4ss*tdn*en];

A2=[a2+(a2-Ass)*hss*pinv(hb1)];

%This state, tank 1 has maximum level of water
hb2=[hxb(1);hnb(2:4)];

% +30% error of CV from CV at steady state

a3=[1-vlss*t1x¥ex 0 v3ss*t3n*ex 0;0 1-v2ss*t2n*ex 0 vass*tdn*ex;0 0 1-v3ss*t3n*ex 0;0 0 0 1-
viss*tdn*ex];

A3=[a3+(a3-Ass)*hss*pinv(hb2)];

% -30% error of CV from CV at steady state

ad=[1-v1lss*t1x*en 0 v3ss*t3n*en 0;0 1-v2ss*t2n*en 0 vdss*tdn*en;0 0 1-v3ss*t3n*en 0;0 0 0
1-vd4ss*tdn*en];

Ad=[ad+(a2-Ass)*hss*pinv(hb2)];

%This state, tank 2 has maximum level of water
hb3=[hnb(1);hxb(2);hnb(3:4)];

% +30% error of CV from CV at steady state

ab=[1-vlss*tln*ex 0 v3ss*t3n*ex 0;0 1-v2ss*t2x*ex 0 vass*tdn*ex;0 0 1-v3ss*t3n*ex 0;0 0 0 1-
viss*tdn*ex];

A5=[a5+(a5-Ass)*hss*pinv(hb3)];

% -30% error of CV from CV at steady state

a6=[1-v1lss*tln*en 0 v3ss*t3n*en 0;0 1-v2ss*t2x*en 0 vdss*tdn*en;0 0 1-v3ss*t3n*en 0;0 0 0
1-v4ss*tdn*en];

A6=[a6+(a6-Ass)*hss*pinv(hb3)];

%This state, tank 3 has maximum level of water
hbd=[hnb(1:2);hxb(3);hnb(4)];

% +30% error of CV from CV at steady state

a7=[1-vlss*tln*ex 0 v3ss*t3x*ex 0;0 1-v2ss*t2n*ex 0 vass*tdn*ex;0 0 1-v3ss*t3x*ex 0;0 0 0 1-
viss*tdn*ex];

A7=[a7+(@7-Ass)*hss*pinv(hbd)];

% -30% error of CV from CV at steady state

a8=[1-vlss*tln*en 0 v3ss*t3x*en 0;0 1-v2ss*t2n*en 0 vd4ss*tdn*en;0 0 1-v3ss*t3x*en 0;0 0 O
1-v4ss*tdn*en];

A8=[a8+(a8-Ass)*hss*pinv(hbd)];
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%This state, tank 4 has maximum level of water
hb5=[hnb(1:3);hxb(4)];

% +30% error of CV from CV at steady state

a9=[1-v1ss*t1n*ex 0 v3ss*t3n*ex 0;0 1-v2ss*t2n*ex 0 vass*tdx*ex;0 0 1-v3ss*t3n*ex 0;0 0 O 1-
vass*tdx*ex];

A9=[a9+(a9-Ass)*hss*pinv(hb5)];

% -30% error of CV from CV at steady state

al0=[1-vlss*tIn*en 0 v3ss*t3n*en 0;0 1-v2ss*t2n*en 0 va4ss*tdx*en;0 0 1-v3ss*t3n*en 0;0 0 0
1-vdss*tdx*en];

A10=[a10+(al0-Ass)*hss*pinv(hb5)];

%This state, tank 1 and tank 2 have maximum level of water
hbé=[hxb(1:2);hnb(3:4)];

% +30% error of CV from CV at steady state

all=[1-vlss*tix*ex 0 v3ss*t3n*ex 0;0 1-v2ss*t2x*ex 0 vdss*tdn*ex;0 0 1-v3ss*t3n*ex 0;0 0 0
1-vdss*tdn*ex];

All=[all+(all-Ass)*hss*pinv(hb6)];

% -30% error of CV from CV at steady state

al2=[1-vlss*tix*en 0 v3ss*t3n*en 0;0 1-v2ss*t2x*en 0 vdss*tdn*en;0 0 1-v3ss*t3n*en 0;0 0 0
1-v4ss*tdn*en];

Al12=[al12+(al2-Ass)*hss*pinv(hb6)];

%This state, tank 1 and tank 3 have maximum level of water
hb7=[hxb(1);hnb(2);hxb(3);hnb(4)];

% +30% error of CV from CV at steady state

al3=[1-vlss*tix*ex 0 v3ss*t3x*ex 0;0 1-v2ss*t2n*ex 0 vdss*tdn*ex;0 0 1-v3ss*t3x*ex 0;0 0 0
1-v4ss*tdn*ex];

A13=[al3+(al3-Ass)*hss*pinv(hb7)];

% -30% error of CV from CV at steady state

ald=[1-vlss*tix*en 0 v3ss*t3x*en 0;0 1-v2ss*t2n*en 0 vdss*tdn*en;0 0 1-v3ss*t3x*en 0;0 0 0
1-v4ss*tdn*en];

Ald=[ald+(ald-Ass)*hss*pinv(hb7)];

%This state, tank 1 and tank 4 have maximum level of water
hb8=[hxb(1);hnb(2:3);hxb(4)];
% +30% error of CV from CV at steady state
al5=[1-v1ss*tix*ex 0 v3ss*t3n*ex 0;0 1-v2ss*t2n*ex 0 vdss*tdx*ex;0 0 1-v3ss*t3n*ex 0;0 0 0
1-vdss*tdx*ex];

Al15=[al5+(al5-Ass)*hss*pinv(hb8)];
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% -30% error of CV from CV at steady state

alé=[1-v1ss*tlx*en 0 v3ss*t3n*en 0;0 1-v2ss*t2n*en 0 vdss*tdx*en;0 0 1-v3ss*t3n*en 0;0 0 0
1-vidss*tdx*en];

Al6=[al6+(al6-Ass)*hss*pinv(hb8)];

%This state, tank 2 and tank 3 have maximum level of water
hb9=[hnb(1);hxb(2:3);hnb(4)];

% +30% error of CV from CV at steady state

al7=[1-vlss*tIn*ex 0 v3ss*t3x*ex 0;0 1-v2ss*t2x*ex 0 vdss*tdn*ex;0 0 1-v3ss*t3x*ex 0;0 0 0
1-vdss*tdn*ex];

A17=[al7+(@l7-Ass)*hss*pinv(hb9)];

% -30% error of CV from CV at steady state

al8=[1-viss*tIin*en 0 v3ss*t3x*en 0;0 1-v2ss*t2x*en 0 vass*tdn*en;0 0 1-v3ss*t3x*en 0;0 0 0
1-vd4ss*tdn*en];

A18=[al18+(al8-Ass)*hss*pinv(hb9)];

%This state, tank 2 and tank 4 have maximum level of water
hb10=[hnb(1);hxb(2);hnb(3);hxb(4)];

% +30% error of CV from CV at steady state

al19=[1-viss*tIn*ex 0 v3ss*t3n*ex 0;0 1-v2ss*t2x*ex 0 vdss*tdx*ex;0 0 1-v3ss*t3n*ex 0;0 0 0
1-vass*tdx*ex];

A19=[a19+(a19-Ass)*hss*pinv(hb10)];

% -30% error of CV from CV at steady state

a20=[1-v1ss*tIn*en 0 v3ss*t3n*en 0;0 1-v2ss*t2x*en 0 va4ss*tdx*en;0 0 1-v3ss*t3n*en 0;0 0 0
1-v4ss*tdx*en];

A20=[a20+(a20-Ass)*hss*pinv(hb10)];

%This state, tank 3 and tank 4 have maximum level of water
hb11=[hnb(1:2);hxb(3:4)];

% +30% error of CV from CV at steady state

a21=[1-vlss*tIn*ex 0 v3ss*t3x*ex 0;0 1-v2ss*t2n*ex 0 vdss*tdx*ex;0 0 1-v3ss*t3x*ex 0;0 0 0
1-vdss*tdx*ex];

A21=[a21+(a21-Ass)*hss*pinv(hb11)];

% -30% error of CV from CV at steady state

a22=[1-v1ss*tIn*en 0 v3ss*t3x*en 0;0 1-v2ss*t2n*en 0 vdss*tdx*en;0 0 1-v3ss*t3x*en 0;0 0 0
1-v4ss*tdx*en];

A22=[a22+(a22-Ass)*hss*pinv(hb11)];
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%This state, tank 1, tank 2 and tank 3 have maximum level of water
hb12=[hxb(1:3);hnb(4)];

% +30% error of CV from CV at steady state

a23=[1-v1ss*t1x*ex 0 v3ss*t3x*ex 0;0 1-v2ss*t2x*ex 0 vdss*tdn*ex;0 0 1-v3ss*t3x*ex 0;0 0 0
1-vidss*tdn*ex];

A23=[a23+(a23-Ass)*hss*pinv(hb12)];

% -30% error of CV from CV at steady state

a2d=[1-vlss*tix*en 0 v3ss*t3x*en 0;0 1-v2ss*t2x*en 0 vdss*tdn*en;0 0 1-v3ss*t3x*en 0;0 0 0
1-v4ss*tdn*en];

A24=[a24+(a24-Ass)*hss*pinv(hb12)];

%This state, tank 1, tank 2 and tank 4 have maximum level of water
hb13=[hxb(1:2);hnb(3);hxb(4)];

% +30% error of CV from CV at steady state

a25=[1-vlss*tix*ex 0 v3ss*t3n*ex 0;0 1-v2ss*t2x*ex 0 vdss*tdx*ex;0 0 1-v3ss*t3n*ex 0;0 0 0
1-vass*tdx*ex];

A25=[a25+(a25-Ass)*hss*pinv(hb13)];

% -30% error of CV from CV at steady state

a26=[1-v1ss*tix*en 0 v3ss*t3n*en 0;0 1-v2ss*t2x*en 0 vass*tdx*en;0 0 1-v3ss*t3n*en 0;0 0 0
1-v4ss*tdx*en];

A26=[a26+(a26-Ass)*hss*pinv(hb13)];

%This state, tank 2, tank 3 and tank 4 have maximum level of water
hb14=[hnb(1);hxb(2:4)];

% +30% error of CV from CV at steady state

a27=[1-vlss*tIn*ex 0 v3ss*t3x*ex 0;0 1-v2ss*t2x*ex 0 vdss*tdx*ex;0 0 1-v3ss*t3x*ex 0;0 0 0
1-v4ss*tdx*ex];

A27=[a27+(a27-Ass)*hss*pinv(hb14)];

% -30% error of CV from CV at steady state

a28=[1-v1ss*tIn*en 0 v3ss*t3x*en 0;0 1-v2ss*t2x*en 0 vdss*tdx*en;0 0 1-v3ss*t3x*en 0;0 0 0
1-v4ss*tdx*en];

A28=[a28+(a28-Ass)*hss*pinv(hb14)];

%This state,tank 1,tank 3 and tank4 have maximum level of water
hb15=[hxb(1);hnb(2);hxb(3:4)];
% +30% error of CV from CV at steady state
a29=[1-v1ss*tlx*ex 0 v3ss*t3x*ex 0;0 1-v2ss*t2n*ex 0 vdss*tdx*ex;0 0 1-v3ss*t3x*ex 0;0 0 0
1-vdss*tdx*ex];

A29=[a29+(a29-Ass)*hss*pinv(hb15)];
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% -30% error of CV from CV at steady state

a30=[1-v1ss*t1x*en 0 v3ss*t3x*en 0;0 1-v2ss*t2n*en 0 vdss*tdx*en;0 0 1-v3ss*t3x*en 0;0 0 0
1-vidss*tdx*en];

A30=[a30+(a30-Ass)*hss*pinv(hb15)];

%This state, every tank have maximum level of water
hbl6=hxb;

% +30% error of CV from CV at steady state

a31=[1-viss*tix*ex 0 v3ss*t3x*ex 0;0 1-v2ss*t2x¥ex 0 vdss*tdx*ex;0 0 1-v3ss*t3x*ex 0;0 0 0 1-
vlss*tdx*ex];

A31=[a31+(a31-Ass)*hss*pinv(hb16)];

% -30% error of CV from CV at steady state

a32=[1-vlss*tix*en 0 v3ss*t3x*en 0;0 1-v2ss*t2x*en 0 vdss*tdx*en;0 0 1-v3ss*t3x*en 0;0 0 0
1-vdss*tdx*en];

A32=[a32+(a32-Ass)*hss*pinv(hb16)];

A=zeros(nx,nx,vt_A); % Arrey of matrix A

A, 1)=A1 A, 1T)=A1T,
A(:,:,2)=A2 A(,;,18)=A18,;
A(:;,:,3)=A3 A(;,;,19)=A19;
A, 4)=A4 A(:,:,20)=A20;
A(:,:;,5)=A5,; A(;,;,21)=A21;
A(,:;,6)=A6 A(::,22)=A22;
AG,:;, 7)=AT A(:,:,23)=A23;
A(;,:;,8)=A8 A(:,:,24)=A24,
A(,:;,9)=A9, A(:,;,25)=A25;

A(,;,10)=A10;  A(;,;,26)=A26;
AG,11)=A11;  A(,;,27)=A2T;
A, 12)=A12;  A(,;,28)=A28;
A, 13)=A13;  A(;,;,29)=A29;
A, 14)=A14;  A(;,:,30)=A30;
A(;,;,15)=A15;  A(;,;,31)=A31;
A, 16)=A16;  A(;,:,32)=A32;

%% Vertices of matrix B

vt _B=2/2; % Number of vertices

% Minimumphase case
%kp1x=142; %Maximum pumpl constant [cmA3/sV]
%kp1n=83; %Minimum pumpl constant [c/3/sV]
%kp2x=171; %Maximum pump2 constant [cmA3/sV]



85

%kp2n=86; %Minimum pump2 constant [cmA3/sV]
%kp1ss=136.05; %Pumpl constant at steady state [cmA3/sV]
%kp2ss=140.31; %Pump2 constant at steady state [cn/3/sV]

%ulx=2.06; %Maximum pumpl voltage at steady state [V]
%uln=1.86; %Minimum pumpl voltage at steady state [V]
%u2x=2.06; %Maximum pumpl voltage at steady state [V]
%u2n=1.86; %Minimum pumpl voltage at steady state [V]

%uss=[1.96;1.96]; %Input variable (pump voltage) at staedy state[v]

%gammalx=0.66; % Minimum ratio of valvel at maximum pump voltage
%gammaln=0.94; % Maximum ratio of valvel at minimum pump voltage
%gamma2x=0.62; % Minimum ratio of valve2 at maximum pump voltage
%gamma2n=0.99; % Maximum ratio of valve2 at minimum pump voltage
%gammalss=0.7; % Ratio of valvel at steady state pump voltage
%gammaZ2ss=0.7; % Ratio of valve2 at steady state pump voltage

% Non-minimumphase case

%kplx=113; %Maximum pumpl constant [cmA3/sV]
%kp1n=86; %Minimum pumpl constant [cmA3/sV]
%kp2x=113; %Maximum pump2 constant [cmA3/sV]
%kp2n=60; %Minimum pump2 constant [cm~3/sV]

%kp1ss=100.215; %Pumpl constant at steady state [cmA3/sV]
%kp2s5=90.16; %Pump?2 constant at steady state [cmA3/sV]

%ulx=2.06; %Maximum pumpl voltage at steady state [V]
%uln=1.86; %Minimum pumpl voltage at steady state [V]
%u2x=2.06; %Maximum pumpl voltage at steady state [V]
%u2n=1.86; %Minimum pumpl voltage at steady state [V]

%uss=[1.96;1.96]; %lInput variable (pump voltage) at staedy state[v]

%gammalx=0.142; 9% Minimum ratio of valvel at maximum pump voltage
%gammaln=0.125; % Maximum ratio of valvel at minimum pump voltage
%gamma2x=0.222; % Minimum ratio of valve2 at maximum pump voltage
%gamma2n=0.146; % Maximum ratio of valve2 at minimum pump voltage
%gammalss=0.131; % Ratio of valvel at steady state pump voltage
%gammaz2ss=0.165; % Ratio of valve2 at steady state pump voltage

%

kplx=142; %Maximum pumpl constant [cmA3/sV]

kp1n=83; %Minimum pumpl constant [cmA3/sV]

kp2x=171; %Maximum pump2 constant [cmA3/sV]

kp2n=86; %Minimum pump2 constant [cmA3/sV]
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kplss=136.05; %Pumpl constant at steady state [cmA3/sV]
kp2ss=140.31; %Pump2 constant at steady state [cmA3/sV]

ulx=2.06; %Maximum pumpl voltage at steady state [V]
uln=1.86; %Minimum pumpl voltage at steady state [V]
u2x=2.06; %Maximum pumpl voltage at steady state [V]
uz2n=1.86; %Minimum pumpl voltage at steady state [V]

uss=[1.96;1.96]; %Input variable (pump voltage) at staedy state[v]

gammalx=0.66; % Minimum ratio of valvel at maximum pump voltage
gammaln=0.94; % Maximum ratio of valvel at minimum pump voltage
gamma2x=0.62; % Minimum ratio of valve2 at maximum pump voltage
gamma2n=0.99; % Maximum ratio of valve2 at minimum pump voltage
gammalss=0.7; % Ratio of valvel at steady state pump voltage

gamma2ss=0.7; % Ratio of valve2 at steady state pump voltage

bss=(eye(4)-Ass)*hss; % From hss=Ass*hss+Bss*uss (eye(d)-Ass)*hss=Bss*uss=bss
Bss=[bss(1)/uss(1) 0;0 bss(2)/uss(2);0 bss(3)/uss(2);bss(d)/uss(1) 0]; % Matrix B at steady state

% ulx,u2x,gammalx,gamma2x

ubl=[ulx-uss(1);u2x-uss(2)l;

b1=[(gammalx*kplx)*dt/at 0;0 (camma2x*kp2x)*dt/at;0 (1-gamma2x)*kp2x*dt/at;(1-
gamma1x)*kplx*dt/at 0];

B1=[b1+(b1-Bss)*uss*pinv(ubl)];
% ulx,uz2n,gammalx,gammaz2n

ub2=[ulx-uss(1);u2n-uss(2)];

b2=[(gammalx*kp1x)*dt/at 0;0 (camma2n*kp2n)*dt/at;0 (1-gammazn)*kp2n*dt/at;(1-
gamma1x)*kp1x*dt/at 0];

B2=[b2+(b2-Bss)*uss*pinv(ub2)];
% uln,u2x,gammaln,gammaz2x

ub3=[uln-uss(1);u2x-uss(2)];

b3=[(gammaln*kpln)*dt/at 0;,0 (gamma2x*kp2x)*dt/(at);0 (1-gamma2x)*kp2x*dt/at;(1-
gammaln)*kpln*dt/at 0J;

B3=[b3+(b3-Bss)*uss*pinv(ub3)];
% uln,u2n,gammaln,gammazn

ubd=[uln-uss(1);u2n-uss(2)];

bd=[(gammaln*kp1n)*dt/at 0;,0 (gamma2n*kp2n)*dt/(at);0 (1-gamma2n)*kp2n*dt/at;(1-
gammaln)*kpln*dt/at 0];

Bd=[bd+(bd-Bss)*uss*pinv(ubd)];



B=zeros(nx,nu,vt B); % Arrey of matrix B
B(::,1)=B1; B(,:;,3)=B3;
B(::,2)=B2; B(:,:;,4)=B4;

%%

QQ=[1000,0100;0000;00 0 0]; % Weighting matrix

R=[1 0;0 1]; % Weighting matrix

x0=[60 1512108 6 4 2,60 15 12 108 6 4 2,60 15 12 10 8 6 4 2,60 15 12 10 8 6 4 2]; % Initial
state to solve pre-computed output feedback gain

[xr xc]=size(x0);

n=xc; % Number of initial state or number of pre-computed output feedback gain
k=zeros(2,4,n);

yy=zeros(2,4,n);

g=zeros(4,4,n);

%% Solve pre-computed output feedback gain

fori=1:n

x=x0(,i);
ops=sdpsettings('solver','sedumi’);
%Declare variable
X=sdpvar(nu,nu);

Y=sdpvar(nu,nx);

Q=sdpvar(nx,nx);

G=sdpvar(1,1);

%

I1=eye(nx); % state identity matrix
12=eye(nu), % input identity matrix
%Robust stability constraint
C=[Q>0];

C=[C[1 x';x Q]>=0]; % Invariant ellipsoid

for j=1:vt A
for jj=1:vt B
C=[C,[Q (Q*AG,:))+Y™*B(:,:,j))) Q*(QQA0.5) Y*(RA0.5);(AG:,:,))*Q+B(:,:,jj)*Y) Q zeros(nx,nx)
zeros(nx,nu);((QQA0.5)*Q) zeros(nx,nx) G*I1 zeros(nx,nu);(RA0.5)*Y) zeros(nu,nx) zeros(nu,nx)
G*12]>=0];
end

end
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% Input constraints
C=[CX YY" Q]>=0];
C=[C,X(1,1)<=0.09812];
C=[C,X(2,2)<=0.09812];
% Solve

solvesdp(C,G,ops);
% Collect state feedback gain
yy(:,,i)=double(Y);
q(:,;,)=double(Q);
k(:,:,D=double(Y)*inv(double(Q))
%

end

%% Check ability in iteration between ellipsoid
o=zeros(1,n-1);

r=zeros(vt An-1);

for i=1:n-1
for j=1:vt A
for jj=1:vt B
r(j,=allleiglinv(g(:,:,N-(AC,: DB, kG, L+ D)™ inv(g(,:, D*AG, ) +BG, i) * kG, i+ 1))>0);
end
end
if all(r(;,))==1
o(1,)=1;
else
o(1,)=0;
end
fprintf('ring %d & %d',i,i+1)
if oi)~=1
disp(‘failed’)
else
disp('pass’)
end

end

%% Design of estimator to find estimator gain(Lp)
c=eye(d); % c from y=cx
[cc,cr]=size(c);

ny=cc; % Number of output variable
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stop=1; % Initial command to start while loop
r=0.999; % Initial r
while stop
% Declare variable
E=sdpvar(nx,ny);
J=sdpvar(nx,nx);
% Design estimator gain
C=[;
C=[C,0<r«1];
C=[C,[(rA2)*J J*Ass-E*C;Ass™J-c™*E' J]1>=0];
solvesdp(C,[1,0ps);
%
Lp=inv(double(J))*double(E); % Estimator gain
Cp=[;
V=sdpvar(8,8); % Declare variable

% Check stability for output feedback system
for j=1:vt A
for jj=1:vt B
for kji=1:n
Cp=[Cp,IV V¥A(,:,)) BC,:,j)*kC, sk Lp*c Ass+Bss*k(:,:,kj)-Lp*cl;IAG,:) BG,:i)*k,: ki);Lp*c
Ass+Bss*k(:,.,kj)-Lp*c]*V VI>0];
end
end
end
solvesdp(Cp,[1,0ps);
if all(eig(double(V))>0)
stop=0;
r
else
% If test is not pass ,stop =1, random new r by r(new)=r(old)-0.1
stop=1;
r=r-0.1;
end
%

end

% Save variable to controller_gain_minimumphase.mat
save('controller gain_minimumphase',k','q,'o",Lp),'c’,Ass',Bss'A,B','uss','vt_A',vt B'h1s','h2s''h3s''h
4s','dt")
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% Save variable to controller_gain_non_minimumphase.mat

PN RPN RPN

%save('controller_gain_non_minimumphase',k','q,'0',Lp','c'/Ass',Bss',/A"/B','uss’,'vt_A')vt B
h1s','h2s''h3s''hds','dt)

%
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% Minimumphase

load(‘controller gain_minimumphase','k,'q,Lp',Ass',Bss',/A"/B','uss','c’, vt A',vt B''hls' 'h2s'h3s' 'hds'
,dt';o) % Load variable from controller gain_minimumphase.mat

% Non-minimumphase

load(‘controller gain non_minimumphase',k,'q,Lp',Ass',Bss',A")B','uss','c,'vt_A','vt B''hls''h2s' 'h3s'

,hds''dt'/0") % Load variable from controller gain_non_minimumphase.mat

load
(‘controller gain_minimumphase',k’,'q,'Lp',/Ass',Bss',;A',B','uss','c’,'vt_A')vt B''hls''h2s'h3s' 'hds' dt!

0') % Load variable from controller_gain_minimumphase.mat

nu=2; % Number of input variable
nx=4; % Number of state variable
ny=4; % Number of output variable
ii=0;

load(Find_K by interpolation_run',run") % Number of input variable



while run
ii=ii+1
%% Recieve level of water in each from pressure sensor
% Random signal from arduino 5 sample
for j=1:5
h1 sig(j)=a.analogRead(3);
h2_sig(j)=a.analogRead(5);
h3 sig(j)=a.analogRead(2);
ha sig(j)=a.analogRead(4);
end
% Convert arduino signal to level of water in each tank
h1=0.095*(median(h1 _sig))-8.072; %(cm)
h2=0.097*(median(h2_sig))-11.79; %(cm)
h3=0.104*(median(h3_sig))-7.387; %(cm)
h4=0.085*(median(h4 _sig))+1.038; %(cm)
%
x=[h1-h1s;h2-h2s;h3-h3s;hd-hds] % State variable
save('state_variable','x); % Save state variable to state variable.mat

%% Find input variable of flow control
load(Find K by interpolation’,'ul',u2"); % Load input variable from
Find K by interpolation.mat
inputl(i=ut;
input2(ii)=u2;
nu=2;
nx=2;
%Minimumphase case
f1ss=15.5; % Flowratel setpoint at steady state
f2ss=16; % Flowrate2 setpoint at steady state
%Non-minimumphase case
f1ss=15.5; % Flowratel setpoint at steady state
f2ss=16; % Flowrate2 setpoint at steady state

flss=15.5; % Flowratel setpoint at steady state
f2ss=16; % Flowrate2 setpoint at steady state

% Check deviation between input(ii+1) and input(i)

% To decrease of computed time in case that input(ii+1) = input(ii) or input(ii+1)-input(i)=0

if fi==1
ctl=1,;
ct2=1,
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else
ctl=input1(i)-input1(ii-1);
ct2=input2(ii-input2(ii-1);
end

% Recieve flowrate of water from flow meter

for j=1:5

f1(j)=0.014*a.analogRead(11)-0.37; % Flow meter 1
f2(j)=0.014*a.analogRead(8)-0.47; % Flow meter 2
3(j)=0.014*a.analogRead(9)-0.082; % Flow meter 3
fd(j)=0.014*a.analogRead(10)-0.288; % Flow meter 4
end

%

load('flow_setpoint','f1s',f2s") % Load flow set point from flow_setpoint.mat

F=[median(f1)+median(f4)-f1s;median(f2)+median(f3)-f2s]; % Matrix of deviation flow rate (flow

rate-flow rate at steady state)
f(ii,=median(fl1)+median(fd); % Flow rate of pumpl
f(ii,2)=median(f2)+median(f3); % Flow rate of pump2
% Find output for slave loopl
clear Kf1;
load (‘controller gain_14''K''q)
sk=size(k);
n=sk(3); % Number of pre-computed state feedback gain (slave loop1)
F1=F(1);
if FL™invgl,,n)*Fl<=1;
Kf1=k(;,:,n);
elseif  F1*inv(q(;,;,n-1)*Fl<=1;
Kf1=k(:,:;,n-1);
elseif  F1*inv(q(,;,n-2))*F1<=1;
Kf1=k(:,;,n-2);
elseif  F1*inv(q(;,;,n-3))*F1<=1;
Kf1=k(:,:,n-3);
elseif  F1*inv(q(:;,;,n-d)*Fl<=1;
Kf1=k(:,:,n-4);
elseif  F1*inv(q(;,;,n-5))*F1<=1;
Kf1=k(:,:,n-5);
elseif  F1*inv(q(:,;,n-6))*F1<=1;
Kf1=k(:,:,n-6);

end
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U1=Kf1*F1; % Deviation inputl variable to control flow(F1)

% Find output for slave loop2
clear Kf2;
load (‘controller_gain 23''k','q)
sk=size(k);
n=sk(3);
F2=F(2);

if F2*inv(q(;,;,n)*F2<=1;
Kf2=k(:,:;,n);

elseif F2%inv(q(:,;,n-1))*F2<=1;
Kf2=k(:,:;,n-1);

elseif F2%inv(q(:,;,n-2))*F2<=1;
Kf2=k(:,;,n-2);

elseif F2%inv(q(:,;,n-3))*F2<=1;
Kf2=k(:,;,n-3);

elseif F2%inv(q(:,:,n-4))*F2<=1;
Kf2=k(:,;,n-4);

elseif F2%inv(q(:,:,n-5))*F2<=1;
Kf2=k(:,;,n-5);

elseif F2%inv(q(:,:,n-6))*F2<=1;
Kf2=k(:,;,n-6);

end

U2=Kf2*F2; % Deviation input2 variable to control flow(F2)
input_F(ii,1)=U1;
input_F(ii,2)=U2;

% Input pump1l
if (i==1)]|(ct1~=0)
ulC=U1+u1+1.96);
else
ulC=input_F(i,1)-input_F(ii-1,1)+ ulG;
end
% Input pump1l
if (ii==1)||(ct2~=0)
u2C=U2+(u2+1.96);
else
u2C=input_F(ii,2)-input_F(ii-1,2)+ u2GC;

end
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%

input_uC(ii,1)=ulC; % Input pumpl(volt)

input_uC(ii,2)=u2C; % Input pump2(volt)

input_pump(ii,1)=int8(u1C*(255/5)); % Convert input pumpl(volt) to arduino signal
input_pump(ii,2)=int8(u2C*(255/5)); % Convert input pump2(volt) to arduino signal

%% Send signal to control pumpl and pump2
a.analogWrite(7,input_pump(ii,1)); %Pumpl
a.analogWrite(6,input_pump(ii,2)); %Pump2
%% collect input to control pumpl and pump2
if fi==
input_signal_uC1=[J;

input_signal_uC2=[];

else
input_signal_uCl=[input_signal uCl;input pump(ii,1)]; %pumpl
input_signal_uC2=[input_signal_uC2;input_pump(ii,2)]; %pump2
end
%% collect signal to control pumpl and pump2
if fi==

input_signal_pumpl1=[];

input_signal_pump2=[J;
else
input_signal_pumpl=[input_signal_pumpZ;round(u1C*(255/5))]; %pumpl
input_signal_pump2=[input_signal_pump2;round(u2C*(255/5)); %pump?2
end
%% Collect flow rate set point
if fi==

flowl=[];

flow2=[];
else
flowl=[flow1;f1s];
flow2=[flow2;f2s];
end
%% Collect flow rate
if fi==1
Flowl=[];
Flow2=[];
else

Flow1=[Flow1,f(ii,1)];
Flow2=[Flow2,ii,2)];

end
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F
load(Find_K by interpolation_run',run’) % Load run variable from
Find K by interpolation_run.mat

end

%% Stop control when run==0

if run==0;

a.analogWrite(6,0); % Stop pump?2

a.analogWrite(7,0); % Stop pumpl

end

3.7 yaddsiigeddunisauausziuiludeiiniuasdeiisesludiuvenisaiuauszuudsensed
annzadngn Tneldyadrdenisaruquideituisuuusiassiifitoulvdeduasmunvuioundu
Fygruvieendslafinisuszandlénisuszanaaidnsversnuutaundudey yiuvioen (Off-line
robust constrained output feedback MPC)

TIME=1000; % 600s = 10min

load(‘controller gain_minimumphase',k,'q,Lp',Ass',Bss/A"'B"'uss','c’,vt_ A',vt B''h1s'h2s''h3s' 'his'

,dt) % Load variable from controller gain_minimumphase

(=TIME/dt; % Round of iteration

nu=2; % Number of input variable

nx=4; % Number of state variable

ny=nx; % Number of output variable
Ub=[0.098;0.098]; % Boundary of input variable

% Creat zero matrix to collect data

input=zeros(l,nu); % Input data

estate=zeros({,nx); % Estimated state data

%

c=eye(d); % y=cx

[ck rol,ck col]=size(clock); % clock=[year month day hour minute seconds]
time=zeros(l,ck_col); %Creat zero matrix to collect time each a sampling time

run=1; % Initial command to start

save('Find_K by interpolation run',run’) % Save run=1 to Find K by interpolation_run.mat
i=0;

while run
i=i+1

tt=clock; % Initial time duration sampling time
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time(i,:)=tt % Collect time data
if i==1
% Variable data at firt iteration
h1=13.3;
h2=14.69;
h3=5.09;
hd4=4.86;
x=[h1-h1s;h2-h2s;h3-h3s;hd-hds]; % Matrix of state variable at initial time
xe=[(h1-h1s)*1.2;(h2-h25)*0.8;(h3-h3s)*1.1;(h4-h4s)*0.9]; % Matrix of estimated state variable at
initial time
else
load ('state_variable',x) % Recieve state variable from ARDUINO

end

clear K;

clear al;

sk=size(k);

n=sk(3); % Number of pre-computed output feedback gains

%% Find output feedback gain from pre-computed state feedback gain

if  xe"¥inv(q(;,;,n)*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,:;,n)]
K=k(,:,n);

elseif xe™inv(q(:,:,n-1))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(;,:,n-1)]
K=k(:,:,n-1);

elseif xe*inv(q(;,;,n-2))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-2)]
K=k(:,:,n-2);

elseif xe™inv(q(;,;,n-3))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-3)]
K=k(;,:;,n-3);

elseif xe™inv(q(;,;,n-4))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-4)]
K=k(:,:,n-4);

elseif xe™inv(q(;,;,n-5))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-5)]
K=k(:,:,n-5);

elseif xe™inv(q(;,;,n-6))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-6)]
K=k(:,:,n-6);

elseif xe™inv(q(;,;,n-7)*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-7)]
K=k(,:,n-7);

end



%% Find input variables

ul=K(1,:*xe; %Deviation of inputl from steady state (V)
u2=K(2,:)*xe; %Deviation of input2 from steady state (V)
%%

save('Find_K by interpolation',ul’;u2") % Save input variables to Find K by interpolation.mat

%% While loop to check sampling time (dt=10s)
st=1; % Initial command to start while loop
while st
tf=clock; % Time duration sampling time ,
% tt is initial time duration sampling time
if (tf(4)*3600+tf(5)*60+tf(6)>=tt(4)*3600+tt(5)*60+tt(6)+dt) % (Time duration sampling
time)-(Initial time duration sampling time) is 10 so sampling time=10
run=1 % Start sample data at next iteration
st=0 % Command to stop this while loop
else
st=1
end

end

%% Output variable collection
y=c;
for j=liny
output(i,j)=y());
end
%% Estimated state variable collection (1 row is 1 iteration)
estate(i,1)=xe(1);
estate(i,2)=xe(2);
estate(i,3)=xe(3);
estate(i,4)=xe(4);
%% Input variable collection (1 row is 1 iteration)
input(i,1)=ul;
input(i,2)=u2;
%% Find estimated state at i+1
Y=
xe=Ass*xe+Bss*K*xe+Lp*(y-c*xe); %xeli+1)
%% Convert input signal (0-5V) to computer signal (0-255)
inputl_signal=(ul+1.96)*(255/5);
input2_signal=(u2+1.96)*(255/5);



%% Find flow set point of slave loop at 1

if inputl signal==95
f1s=10.1;
elseif inputl_signal<=96
% At inputl_signal=96 flow rate of pumpl =11.2
rt=inputl_signal-95;
fls=rt*(11.2-10.1)+10.1;
elseif inputl_signal<=97
% At inputl_signal=97 flow rate of pumpl =12.5
rt=inputl_signal-96;
fls=rt*(12.5-11.2)+11.2;
elseif inputl signal<=98
% At inputl_signal=98 flow rate of pumpl =13.5
rt=inputl_signal-97;
fls=rt*(13.5-12.5)+12.5;
elseif inputl_signal<=99
% At inputl_signal=99 flow rate of pumpl =14.5
rt=inputl_signal-98;
fls=rt*(14.5-13.5)+13.5;
elseif inputl signal<=100
% At inputl signal=100 flow rate of pumpl =15.5
rt=inputl_signal-99;
fls=rt*(15.5-14.5)+14.5;
elseif inputl signal<=101
% At inputl signal=101 flow rate of pumpl =16.5
rt=inputl_signal-100;
fls=rt*(16.5-15.5)+15.5;
elseif inputl signal<=102
% at inputl signal=101 flow rate of pumpl =17.5
rt=inputl_signal-101;
fls=rt*(17.5-16.5)+16.5;
elseif inputl_signal<=103
% At inputl signal=103 flow rate of pumpl =18.5
rt=inputl_signal-102;
fls=rt*(18.5-17.5)+17.5;
elseif inputl_signal<=104
% At inputl signal=104 flow rate of pumpl =19.5
rt=inputl_signal-103;
fls=rt*(19.5-18.5)+18.5;

else
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% At inputl signal=104 flow rate of pump1 =20.5
rt=inputl_signal-104;
f1s=rt*(20.5-19.5)+19.5;

end

%% Find flow set point of slave loop at 2

if input2_signal<=95
f25=10.5;

elseif input2_signal<=96
% At inputl_signal=96 flow rate of pumpl =11.4
rt=input2_signal-95;
f2s=rt*(11.4-10.5)+10.5;

elseif input2_signal<=97
% At inputl_signal=97 flow rate of pumpl =12.6
rt=input2_signal-96;
f2s=rt*(12.6-11.4)+11.4;

elseif input2_signal<=98
% At inputl signal=98 flow rate of pumpl =14
rt=input2_signal-97;
f2s=rt*(14-12.6)+12.6;

elseif input2_signal<=99
% At inputl_signal=99 flow rate of pumpl =14.9
rt=input2_signal-98;
f2s=rt*(14.9-14)+14;

elseif input2_signal<=100
% At inputl signal=100 flow rate of pumpl =16
rt=input2_signal-99;
f2s=rt*(16-14.9)+14.9;

elseif input2_signal<=101
% At inputl signal=101 flow rate of pumpl =16.9
rt=input2_signal-100;
f2s=rt*(16.9-16)+16;

elseif input2_signal<=102
% At inputl signal=102 flow rate of pumpl =17.9
rt=input2_signal-101;
f25=rt*(17.9-16.9)+16.9;

elseif input2_signal<=103
% At inputl signal=103 flow rate of pumpl =18.7
rt=input2_signal-102;
f25=rt*(18.7-17.9)+17.9;

elseif input2_signal<=104

99
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% At inputl signal=104 flow rate of pumpl =19.6
rt=input2_signal-103;
f2s=rt*(19.6-18.7)+18.7;

else
% At inputl_signal=105 flow rate of pumpl =20.5
rt=input2_signal-104;
f2s=rt*(20.5-19.6)+19.6;

end

%%
save('flow_setpoint','f1s',f2s") % save flow setpoint to flow_setpoint.mat
fls
f2s
%% Stop calculation when i=number round of iteration

if i==

run=0;

end

%%

save('Find K by interpolation run',run’); % Stop calculation when i=number round of iteration
end

%Save variables to excel file to plot graphs with SigmaPlot program
xlswrite('minimumphase.xls'input(1:35,1),1,'B5')

xlswrite('minimumphase.xls',input(1:35,2),1,'C5)
xlswrite('minimumphase.xls',output(1:35,1),1,D5")
xlswrite('minimumphase.xls',output(1:35,2),1,'E5'
s',output(1:35,3),1,'F5'

L

L

L

| )

( )
xlswrite('minimumphase.xls',output(1:35,4),1,'G5")

L

L

l

l

xlswrite('minimumphase.x
xlswrite(minimumphase.xs',estate(1:35,1),1, H5")
xlswrite(minimumphase.xs',estate(1:35,2),1,'15')

xlswrite('minimumphase.xls',estate(1:35,3),1,'J5")

xlswrite('minimumphase xls',estate(1:35,4),1,'K5")
%

o w o o B v oA & o ' dv a 4
¥.8 YaAaanaaslunisarvauszauiiludsiniwazdaasludiuvainisaruqussuudniased
danzanga lagldyaardinisarvaununanuileEuadelinisUssandldn1sussuua1dnsiveny
wuudeundudysyraiviaan(Off-line robust constrained output feedback MPC with output

feedback gain interpolation)

TIME=1000; % 600s = 10min

load('controller gain minimumphase',k','q,Lp',Ass',Bss,/A")B"'uss','c',vt A',vt B''h1s''h2s''h3s' 'his'

,dt';0"% Load variable from controller gain_minimumphase.mat
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(=TIME/dt; % Round of iteration

nu=2; % Number of input variable

nx=4; % Number of state variable

ny=nx; % Number of output variable
Ub=[0.098;0.098]; % Boundary of input variable

% Creat zero matrix to collect data

input=zeros(l,nu); % Input data

estate=zeros(l,nx); % Estimated state data

%

c=eye(d); % y=cx

[ck_rol,ck coll=size(clock); %clock=[year month day hour minute seconds]
time=zeros(l,ck_col); %matrix of time to collect time each sampling time

AL=zeros(|,1); % Create zero matrix to collect al

%% find K and Lp

run=1; % Initial command to start

save('Find K by interpolation run',run) % Save run=1 to Find K by interpolation run.mat
i=0;

while run
i=i+1
tt=clock; % Initial time duration sampling time
time(i,:)=tt % Collect time data
if i==1
% Variable data at first iteration
h1=13.3;
h2=14.69;
h3=5.09;
hd=4.86;
x=[h1-h1s;h2-h2s;h3-h3s;h4-hds]; % Matrix of state variable at initial time
xe=[(h1-h1s)*1.2;,(h2-h25)*0.8;(h3-h3s)*1.1;(h4-hds)*0.9]; % Matrix of estimated state variable at
initial time
else
load (‘state_variable','x’) % Receive state variable from ARDUINO
end
clear K;
clear al;
sk=size(k);
n=sk(3); % Number of pre-computed output feedback gains
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%% Find output feedback gain from pre-computed state feedback gain with linear interpolation

if i==1 % At first iteration
% Variable value at first iteration
ul=0.0994;
u2=0.0917,
al=0.0495;
AL(i,1)=al;
K=[-0.0008 -0.0002 -0.0017 -0.0028;-0.0005 -0.0004 -0.0035 -0.0013]; % Initial k at
iteration 1
else
if  xe™inv(g(;,;,n))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,:,n)]
K=k(:,:,n);
al=1;
ALG,1)=al;
elseif xe™¥inv(q(;,;,n-1))*xe<=1; % Estimated state is member of ellipsoid invariant set
[q(:,:;,n-1)]
if o(7)==1 % Check ability in iteration between ellipsoid
% Declare variables
al=sdpvar(1,1);
K=al*k(;,;,n-1)+(1-al)*k(:,;,n);
%
w=[];
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
%
% Constraint to guarantee robust stability
for j=1:vt A
for jji=1:vt B
w=[w,[1 ((AG,:))+BC,j)*K)*xe) S(AC,: )+BC,: i) K)*xe g(:,:,n-1)]>=0];
end
end
%
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=0];
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=0];
%
solvesdp(w,al); % Solve al
al=double(al);
AL(i,1)=al; % Collect al to matrix AL
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K=al*k(:,:,n-1)+(1-al)*k(:,;,n); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(:,;,n-1);
al=1;

end
elseif xe"inv(q(;,;,n-2))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-2)]

if o(6)==1 % Check ability in iteration between ellipsoid
% Declare variables
al=sdpvar(1,1);
K=al*k(;,;,n-2)+(1-al)*k(:,;,n-1);
%
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
%
% Constraint to guarantee robust stability
for j=1:vt A
for jj=1:vt B
w=[w,[1 ((AG,:))+BC,:j*K)*xe) s (AG,: D+BC,: i *K)*xe g(:,:,n-2)1>=0];
end
end
%
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=0];
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=0];
%
solvesdp(w,al); % Solve
al=double(al);
AL(i,1)=al; % Collect al to matrix AL
K=al*k(;,;,n-2)+(1-al)*k(:,;,n-1); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(:,:,n-2);
al=1,
end
elseif xe™inv(q(;,;,n-3))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-3)]
if o(5)==1

% Declare varialble



104

al=sdpvar(1,1);
K=al*k(:,;,n-3)+(1-al)*k(:,;,n-2);
%
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
%
% Constraint to guarantee robust stability
for j=1:vt A
for jj=1:vt B
w=[w,[1 ((AG,: DB, K*xe) s (AG,: D4BC,j) ¥ K)*xe g(:,:,n-3)]>=0];
end
end
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=0];
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=01;
%
solvesdp(w,al); % Solve
al=double(al);
AL(,1)=al; % Collect al to matrix AL
K=al*k(:,;,n-3)+(1-al*k(;,;,n-2); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(:,:;,n-3);
al=1;
end
elseif xe™inv(q(:,:,n-4))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-4)]
if o(d4)==1 % Check ability in iteration between ellipsoid
% Declare variables
al=sdpvar(1,1);
K=al*k(;,;,n-4)+(1-al)*k(:,;,n-3);
%
w=[];
% Constraint of al
w=[w,al>=0];

w=[w,al<=1];
% Constraint to guarantee robust stability

for j=1:vt A
for ji=1:vt B



w=lw,[1 (AG,D+BG, ) K*xe) s (AG, L) +B(,: ) *K)*xe o:,:,n-8)1>=0];
end
end
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=0];
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=0];
%
solvesdp(w,al); % Solve al
al=double(al);
AL(i,1)=al; % Collect al to matrix AL
K=al*k(:,:,n-4)+(1-al)*k(:,;,n-3); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(;,:,n-4);
al=1;

end
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elseif xe™inv(q(:,:,n-5))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-5)]

if o(3)==1 % Check ability in iteration between ellipsoid
% Declare variables
al=sdpvar(1,1);
K=al*k(;,;,n-5)+(1-al)*k(:,;,n-4);
%
w=[J;
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
%
% Constraint to guarantee robust stability
forj=1:vt A
for ji=1:vt B
w=[w,[1 ((AG,: j)+BC,: ) K)*xe)(AC,: )+BCL i *K)*xe g(:,:,n-5)1>=0];
end
end
%
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=0];
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=0];
%
solvesdp(w,al); % Solve al
al=double(al);
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AL(i,1)=al; % Collect al to matrix AL
K=al*k(:,:,n-5)+(1-al)*k(:,;,n-4); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(:,;,n-5);
al=1;
end
elseif xe™inv(q(:,:,n-6))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-6)]
if o(2)==1 % Check ability in iteration between ellipsoid
% Declare variables
al=sdpvar(1,1);
K=al*k(:,;,n-6)+(1-al)*k(:,:,n-5);
%
w=[];
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
%
% Constraint to guarantee robust stability
for j=1:vt A
for jj=1:vt B
w=[w,[1 ((AG,:))+BC,:j*K)*xe) s (AC,: D+BC, i *K)*xe g(:,:,n-6)1>=0];
end
end
%
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=0];
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=0];
%
solvesdp(w,al); % Solve al
al=double(al);
AL(i,1)=al; % Collect al to matrix AL
K=al*k(;,:,n-6)+(1-al)*k(:,;,n-5); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(:,:,n-6);
al=1,
end
elseif xe™inv(q(;,;,n-7)*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-7)]

if o(1)==1 % Check ability in iteration between ellipsoid
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% Declare variables
al=sdpvar(1,1);
K=al*k(:,;,n-7)+(1-al)*k(:,;,n-6);
%
w=[;
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
%
% Constraint to guarantee robust stability
for j=1:vt A
for jji=1:vt B
w=[w,[1 ((AG,:))+BC,:j*K)*xe)(AG,: )4BC, L *K)*xe g(:,:,n-7)1>=0];
end
end
%
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=01;
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=0];
%
solvesdp(w,al); % Solve al
al=double(al);
AL(i,1)=al; % Collect al to matrix AL
K=al*k(;,:,n-7)+(1-al)*k(:,;,n-6); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(:,:;,n-7);
al=1;
end

end

ul=K(1,:*xe; %Deviation of inputl from steady state (V)
u2=K(2,:)*xe; %Deviation of input2 from steady state (V)

end

save('Find K by interpolation’,'ul’,'u2"

%% While loop to check sampling time (dt=10s)

st=1; % Initial command to start while loop
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while st
tf=clock; % Time duration sampling time ,
% tt is initial time duration sampling time

if (tf(4)*3600+tf(5)*60+tf(6)>=tt(4)*3600+tt(5)*60+tt(6)+dt) % (Time duration sampling time)-(Initial
time duration sampling time) is 10 so sampling time=10

run=1 % Start sample data at next iteration

st=0 % Command to stop this while loop
else

st=1
end

end

%% output variable collection
y=c;
for j=l:ny
output(i,j)=y());
end

%% Estimated state variable collection(1 row is 1 iteration)
estate(i,1)=xe(1);
estate(i,2)=xe(2);
estate(i,3)=xe(3);
estate(i,4)=xe(4);
%% input varaiable collection(1 row is 1 iteration)
input(i,1)=ul;
input(i,2)=u2;
%% Find estimated state at i+1
y=c;
xe=Ass*xe+Bss*K*xe+Lp*(y-c*xe); %xeli+1)
%% Convert input signal (0-5V) to computer signal(0-255)
inputl_signal=(u1+1.96)*(255/5);
input2_signal=(u2+1.96)*(255/5);
%% Find flow set point of slave loop at 1
if inputl signal==95
f1s=10.1;
elseif inputl_signal<=96
% At inputl signal=96 flow rate of pumpl =11.2
rt=inputl_signal-95;
fls=rt*(11.2-10.1)+10.1;
elseif inputl_signal<=97
% At inputl signal=97 flow rate of pumpl =12.5
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rt=inputl_signal-96;
fls=rt*(12.5-11.2)+11.2;
elseif inputl_signal<=98
% At inputl_signal=98 flow rate of pumpl =13.5
rt=inputl_signal-97;
fls=rt*(13.5-12.5)+12.5;
elseif inputl signal<=99
% At inputl signal=99 flow rate of pumpl =14.5
rt=inputl_signal-98;
fls=rt*(14.5-13.5)+13.5;
elseif inputl_signal<=100
% At inputl signal=100 flow rate of pumpl =15.5
rt=inputl_signal-99;
fls=rt*(15.5-14.5)+14.5;
elseif inputl signal<=101
% At inputl signal=101 flow rate of pumpl =16.5
rt=inputl_signal-100;
fls=rt*(16.5-15.5)+15.5;
elseif inputl signal<=102
% at inputl signal=101 flow rate of pumpl =17.5
rt=inputl signal-101;
fls=rt*(17.5-16.5)+16.5;
elseif inputl signal<=103
% At inputl signal=103 flow rate of pump1 =18.5
rt=inputl_signal-102;
fls=rt*(18.5-17.5)+17.5;
elseif inputl signal<=104
% At inputl signal=104 flow rate of pumpl =19.5
rt=inputl_signal-103;
fls=rt*(19.5-18.5)+18.5;
else
% At inputl signal=104 flow rate of pumpl =20.5
rt=inputl_signal-104;
fls=rt*(20.5-19.5)+19.5;

end

%% Find flow set point of slave loop at 2

if input2_signal<=95
f25=10.5;
elseif input2_signal<=96



% At input2_signal=96 flow rate of pump2 =11.4
rt=input2_signal-95;
f2s=rt*(11.4-10.5)+10.5;
elseif input2_signal<=97
% At input2_signal=97 flow rate of pump2 =12.6
rt=input2_signal-96;
f2s=rt*(12.6-11.4)+11.4;
elseif input2_signal<=98
% At input2_signal=98 flow rate of pump2 =14
rt=input2_signal-97;
f2s=rt*(14-12.6)+12.6;
elseif input2_signal<=99
% At input2_signal=99 flow rate of pump2 =14.9
rt=input2_signal-98;
f2s=rt*(14.9-14)+14;
elseif input2_signal<=100

% At input2_signal=100 flow rate of pump2 =16

rt=input2_signal-99;
f2s=rt*(16-14.9)+14.9;
elseif input2_signal<=101

% At input2_signal=101 flow rate of pump2 =16.9

rt=input2_signal-100;
f25=rt*(16.9-16)+16;
elseif input2_signal<=102

% At input2_signal=102 flow rate of pump2 =17.9

rt=input2_signal-101;
f25=rt*(17.9-16.9)+16.9;
elseif input2_signal<=103

% At input2_signal=103 flow rate of pump2 =18.7

rt=input2_signal-102;
f2s=rt*(18.7-17.9)+17.9;
elseif input2_signal<=104

% At input2_signal=104 flow rate of pump2 =19.6

rt=input2_signal-103;
f25=rt*(19.6-18.7)+18.7;

else

% At input2_signal=105 flow rate of pump2 =20.5

rt=input2_signal-104;
f25=rt*(20.5-19.6)+19.6;

end

110
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%%
save(flow_setpoint','f1s',f2s") % save flow set point to flow_setpoint.mat
fls
f2s
%% Stop calculation when i=number round of iteration

if i==

run=0;

end

%%

save('Find K by interpolation run',run’); % Stop calculation when i=number round of iteration
%Save variables to excel file to plot graphs with SigmaPlot program

xlswrite('minimumphase xls',input(1:35,1),1,'B48")

xlswrite('minimumphase.xls'input(1:35,2),1,'C48")

xlswrite('minimumphase.xls',output(1:35,1),1,'D48")

xlswrite('minimumphase.xls',output(1:35,2),1,'£48")

L

( (

( L

( (

( ls' output(1:35,3),1,F48)
xlswrite('minimumphase.xls',output(1:35,4),1,G48")

( (

( L

( (

( (

xlswrite('minimumphase.x

xlswrite('minimumphase xls' estate(1:35,1),1,'H48")

xlswrite('minimumphase.xls'estate(1:35,2),1,'148")

xlswrite('minimumphase xls' estate(1:35,3),1,J48")

xlswrite('
%

end

minimumphase.xls',estate(1:35,4),1,'K48")

3.9 yaAdsiigadlunisaruauseiuiludeiiniuasdeiisesdudiuvenisaiuguszuuddansed
anaglifianngn Tneldyardanisaiuauidainenvusiassiiifeuledsfuamunuuloundu
Fyaravieandalasinisuszgndlinisuszunmdisnsmagisuuutloundudyyimvieen (Off-line
robust constrained output feedback MPC)

TIME=720; % 600s = 10min
load
(‘controller gain_non minimumphase',k','q,'Lp',Ass','Bss')A",B','uss','c’,'vt A')vt B''h1s''h2s','h3s''hds

,'dt) % Load variable from controller_gain_non_minimumphase.mat

(=TIME/dt; % Round of iteration

nu=2; % Number of input variable

nx=4; % Number of state variable

ny=nx; % Number of output variable
Ub=[0.098;0.098]; % Boundary of input variable
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% Creat zero matrix to collect data

input=zeros(l,nu); % Input data

estate=zeros(l,nx); % Estimated state data

%

c=eye(d); % y=cx

[ck_rol,ck coll=size(clock); % clock=[year month day hour minute seconds]
time=zeros(l,ck_col); %Creat zero matrix to collect time each a sampling time
run=1; % Initial command to start

save('Find_K by interpolation run',run) % Save run=1 to Find K by interpolation run.mat

i=0;
while run
i=i+1
tt=clock; % Initial time duration sampling time
time(i,:)=tt % Collect time data
if i==
% Variable data at firt iteration
h1=9.03;
h2=9.26;
h3=20.9;
hd4=24.33;
x=[h1-h1s;h2-h2s;h3-h3s;hd-hds]; % Matrix of state variable at initial time
xe=[(h1-h1s)*1.2;(h2-h25)*0.8;(h3-h3s)*1.1;(h4-h4s)*0.9]; % Matrix of estimated state variable at
initial time
else
load ('state_variable','x’) % Recieve state variable from ARDUINO

end

clear K;

clear al;

sk=size(k);

n=sk(3); % Number of pre-computed output feedback gains

if i==1
u1=-0.0068; %Deviation of inputl from steady state (V)
u2=0.0081;
K=[-0.0017 0.0051 -0.0035 -0.0069;0.0012 -0.0002 -0.0266 -0.0043]*10/7(-3);
else
if  xe™inv(q(;,;,n))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,:,n)]
K=k(,:,n);

elseif xe™inv(q(;,;,n-1))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,:,n-1)]
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K=k(:,:,n-1);

elseif xe"inv(q(;,;,n-2))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-2)]
K=k(:,:,n-2);

elseif xe™inv(q(:,:,n-3))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-3)]
K=k(:,:,n-3);

elseif xe™inv(q(:,:,n-4))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-4)]
K=k(,:;,n-4);

elseif xe™inv(q(:,:,n-5))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,:,n-5)]
K=k(:,:;,n-5);

elseif xe™inv(q(:,:,n-6))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-6)]
K=k(:,:;,n-6);

elseif xe™inv(q(:,:,n-7))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,:,n-7)]
K=k(,:;,n-7);

elseif xe™inv(q(:,:,n-8))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-8)]
K=k(:,:;,n-8);

end

end

%% Find input variables
ul=K(1,:*xe; %Deviation of inputl from steady state (V)
u2=K(2,:*xe; %Deviation of input2 from steady state (V)
%%
save(Find_K by interpolation','ul’;u2') % Save input variables to Find_K by interpolation.mat
%% While loop to check sampling time (dt=12s)
st=1; % Initial command to start while loop
while st
tf=clock; % Time duration sampling time ,
% tt is initial time duration sampling time

if (ti(d)*3600+tf(5)*60+tf(6)>=tt(4)*3600+tt(5)*60+tt(6)+dt) % (Time duration sampling time)-(Initial
time duration sampling time) is 12 so sampling time=12

run=1 % Start sample data at next iteration

st=0 % Command to stop this while loop
else

st=1
end
end
%% output variable collection
Y=

for j=l:ny

output(i,j)=y();
end



114

%% Estimated state variable collection (1 row is 1 iteration)
estate(i,1)=xe(1);
estate(i,2)=xe(2);
estate(i,3)=xe(3);
estate(i,4)=xe(4);
%% Input variable collection (1 row is 1 iteration)
input(i,1)=ul;
input(i,2)=u2;
%% Find estimated state at i+1
=
xe=Ass*xe+Bss*K*xe+Lp*(y-c*xe); %xe(i+1)
%% Convert input signal(0-5V) to computer signal(0-255)
inputl_signal=(u1+1.96)*(255/5);
input2_signal=(u2+1.96)*(255/5);
% find flow14 set point
if inputl_signal==95
f15=9.69;
elseif inputl_signal<=96
% At inputl signal=96 flow rate of pumpl =9.86
rt=inputl_signal-95;
f1s=rt*(9.86-9.69)+9.69;
elseif inputl_signal<=97
% At inputl signal=97 flow rate of pumpl =10.28
rt=inputl_signal-96;
f1s=rt*(10.28-9.86)+9.86;
elseif inputl_signal<=98
% At inputl signal=98 flow rate of pumpl =10.8
rt=inputl signal-97;
f1s=rt*(10.8-10.28)+10.28,;
elseif inputl_signal<=99
% At inputl signal=99 flow rate of pumpl =11.37
rt=inputl_signal-98;
fls=rt*(11.37-10.8)+10.8;
elseif inputl_signal<=100
% At inputl signal=100 flow rate of pump?l =11.79
rt=inputl_signal-99;
fls=rt*(11.79-11.37)+11.37;
elseif inputl_signal<=101
% At inputl signal=101 flow rate of pumpl =12.12
rt=inputl_signal-100;
fls=rt*(12.12-11.79)+11.79;
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elseif inputl_signal<=102
% At inputl_signal=102 flow rate of pumpl =12.63
rt=inputl_signal-101;
fls=rt*(12.63-12.12)+12.12;

elseif inputl_signal<=103
% At inputl_signal=103 flow rate of pumpl =12.93
rt=inputl_signal-102;
fls=rt*(12.93-12.12)+12.12;

elseif inputl_signal<=104
% At inputl_signal=104 flow rate of pumpl =13.42
rt=inputl_signal-103;
fls=rt*(13.42-12.93)+12.93;

else
% At inputl signal=104 flow rate of pumpl =13.93
rt=inputl_signal-104;
f1s=rt*(13.93-13.42)+13.42,

end

% find flow23 set point

if input2_signal<=95
f25=6.75;

elseif input2_signal<=96
% At input2_signal=96 flow rate of pump2 =7.62
rt=input2_signal-95;
f25=rt*(7.62-6.75)+6.75;

elseif input2_signal<=97
% At input2_signal=97 flow rate of pump2 =8.42
rt=input2_signal-96;
f25=rt*(8.42-7.62)+7.62;

elseif input2_signal<=98
% At input2_signal=98 flow rate of pump2 =9.27
rt=input2_signal-97;
f25=rt*(9.27-8.42)+8.42;

elseif input2_signal<=99
% At input2_signal=99 flow rate of pump2 =9.91
rt=input2_signal-98;
f25=rt*(9.91-9.27)+9.27;

elseif input2_signal<=100
% At input2_signal=100 flow rate of pump2 =10.66
rt=input2_signal-99;
f2s=rt*(10.66-9.91)+9.91;



%%

save(flow_setpoint',f1s',f2s) % save flow setpoint to flow_setpoint.mat

fls
f2s

%% Stop calculation when i=number round of iteration
if i==

elseif input2_signal<=101

% At input2_signal=101 flow rate of pump2 =11.36

rt=input2_signal-100;
f2s=rt*(11.36-10.66)+10.66;
elseif input2_signal<=102

% At input2_signal=102 flow rate of pump2 =11.98

rt=input2_signal-101;
f2s=rt*(11.98-11.36)+11.36;
elseif input2_signal<=103

% At input2_signal=103 flow rate of pump2 =12.66

rt=input2_signal-102;
f2s=rt*(12.66-11.98)+11.98;
elseif input2_signal<=104

% At input2_signal=104 flow rate of pump2 =13.3

rt=input2_signal-103;
f2s=rt*(13.3-12.66)+12.66;
else

% At input2_signal=104 flow rate of pump2 =13.91

rt=input2_signal-104;
f2s=rt*(13.91-13.3)+13.3;
end

run=0;

end
%%

116

save('Find K by interpolation_run',run’); % Stop calculation when i=number round of iteration

end

%Save variables to excel file to plot graphs with SigmaPlot program

xlswrite('non minimumphase.xs',input(1:35,1),1,'B5)

xlswrite
xlswrite
xlswrite

xlswrite

non_minimumphase.xls'input(1:35,2),1,'C5')

non_minimumphase.xls',output(1:35,1),1,'D5"

non_minimumphase.xls',output(1:35,2),1,'E5")

(
(
(
(

)
non_minimumphase.xls',output(1:35,3),1,'F5"
)

xlswrite('non minimumphase.xls',output(1:35,4),1,'G5")

xlswrite('non minimumphase.xls'estate(1:35,1),1,H5")

xlswrite('non minimumphase.xls'estate(1:35,2),1,'15")
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xlswrite('non_minimumphase.xls',estate(1:35,3),1,J5")
xlswrite('non_minimumphase.xls',estate(1:35,4),1,'K5")
%

3.10 yaArdanaaslunIsAuaNsEAvUnludsnilauazdenaasludiuvanisauanszuudn s
dnzlifianige Tagldyadrdinisaruauniunauideauadalinisyssendldnisussunaan
ans1vrekuulaunaudygyiau1aan(Off-line robust constrained output feedback MPC with

output feedback gain interpolation)

TIME=960;
load
(‘controller_gain_non_minimumphase',K,'d, Lp',Ass',Bss',A", B, uss','c',vt_A','vt B''h1s''h2s''h3s' 'hds

L'dt','0) % Load variable from controller_gain_non_minimumphase.mat

(=TIME/dt; % Round of iteration

nu=2; % Number of input variable

nx=4; % Number of state variable

ny=nx, % Number of output variable
Ub=[0.098;0.098]; % Boundary of input variable

% Creat zero matrix to collect data
input=zeros(l,nu); % Input data
estate=zeros(|,nx); % Estimated state data
%

c=eye(d); % y=cx
[ck rol,ck coll=size(clock); %clock=[year month day hour minute seconds]
time=zeros(l,ck_col); %matrix of time to collect time each sampling time
AL=zeros(|,1); % Creat zero matrix to collect al
run=1; % Initial command to start
save('Find_K by interpolation_run',run’) % Save run=1 to Find K by interpolation_run.mat
i=0;
while run
i=i+1

tt=clock; % Initial time duration sampling time

time(i,:)=tt % Collect time data

if i==1

% initail measure at 30 second (send signal 100 to pump)

%1.05 min

h1=8.93;

h2=12.46;
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h3=20.07;
hd=16.34;
x=[h1-h1s;h2-h2s;h3-h3s;h4-h4s];
xe=[(h1-h1s)*1.2;(h2-h25)*0.8;(h3-h3s)*1.1;(hd-hds)*0.9];
else
load ('state_variable','x)

end

clear K;
clear al;
sk=size(k);
n=sk(3);

if i==

u1=0.0351; %Deviation of inputl from steady state (V)

u2=0.0632;

al=4.9089e-013;

AL(,1)=al;

K=[-0.0002 0.0009 0.0006 -0.0027;0.0008 0.0006 -0.0030 -0.0010];
else

if  xe"¥inv(q(;,;,n))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,:;,n)]
K=k(,:,n);
al=1;
AL(i,1)=al;
elseif xe™inv(q(:,:,n-1))*xe<=1; % Estimated state is member of ellipsoid invariant set [q(:,;,n-1)]
if 0o(8)==1 % Check ability in iteration between ellipsoid
% Declare variables
al=sdpvar(1,1);
K=al*k(;,;,n-1)+(1-al)*k(:,:,n);
%
w=[J;
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
% Constraint to guarantee robust stability
for j=1:vt A
for jj=1:vt B
w=[w,[1 ((AG,: j)+BC,: ) K)*xe) (AC,: D)+BCL i *K)*xe gf:,:,n-1)]>=0];
end

end
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% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=0];
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=0];
%
solvesdp(w,al); % Solve al
al=double(al);
AL(i,1)=al; % Collect al to matrix AL
K=al*k(:,:,n-1)+(1-al)*k(:,;,n); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(:,:;,n-1);
al=1;
end
elseif xe"inv(q(;,;,n-2))*xe<=1;
if o(8)==1 % Check ability in iteration between ellipsoid
% Declare variables
al=sdpvar(1,1);
K=al*k(;,;,n-2)+(1-al)*k(;,;,n-1);
%
w=[J;
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
% Constraint to guarantee robust stability
for j=1:vt A
for jj=1:vt B
w=[w,[1 ((AG,: B, K xe) s(AC, 4B, K *xe g(:,:,n-2)]1>=0];
end
end
% Input constraint
w=[w,[Ub(1)A2 (K(1,)*xe):K(1,)*xe 1]>=01;
w=[w,[Ub(2)A2 (K(2,)*xe):K(2,)*xe 1]>=01;
%
solvesdp(w,al); % Solve al
al=double(al);
ALGi,1)=al; % Collect al to matrix AL
K=al*k(;,:,n-2)+(1-al)*k(:,;,n-1); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(:,:;,n-2);
al=1;
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end
elseif xe™inv(q(:,:,n-3))*xe<=1;
if o(6)==1 % Check ability in iteration between ellipsoid
% Declare variables
al=sdpvar(1,1);
K=al*k(:,;,n-3)+(1-al)*k(:,;,n-2);
%
w=[];
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
% Constraint to guarantee robust stability
for j=1:vt A
for jj=1:vt B
w=[w,[1 ((AG,:))+BC,:j*K)*xe)(AC,: D4BC, i) *K)*xe g(:,:,n-3)1>=0];
end
end
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=01;
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=01;
%
solvesdp(w,al); % Solve al
al=double(al);
AL(i,1)=al; % Collect al to matrix AL
K=al*k(;,:,n-3)+(1-al)*k(:,;,n-2); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(:,:;,n-3);
al=1,
end
elseif xe™*inv(q(:,:,n-4))*xe<=1;
if o(5)==1 % Check ability in iteration between ellipsoid
% Declare variables
al=sdpvar(1,1);
K=al*k(;,;,n-4)+(1-al)*k(:,;,n-3);
%
w=[;
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
%
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% Constraint to guarantee robust stability
for j=1:vt A
for jj=1:vt B
w=[wW,[1 ((AG,:))+BC,: i *K)*xe)(AC,: D4BG, i) K)*xe o(:,:,n-4)]>=0];
end
end
%
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=01;
w=[w,[Ub(2)A2 (K(2,:)*xe)K(2,:)*xe 1]>=0];
%
solvesdp(w,al); % Solve al
al=double(al);
AL(i,1)=al; % Collect al to matrix AL
K=al*k(:,;,n-4)+(1-al*k(:,;,n-3); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(;,:,n-4);
al=1;
end
elseif xe™inv(q(:,:,n-5))*xe<=1;
if o(d4)==1 % Check ability in iteration between ellipsoid
% Declare varialble
al=sdpvar(1,1);
K=al*k(:,;,n-5)+(1-al)*k(:,:,n-4);
%
w=[J;
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
% Constraint to guarantee robust stability
for j=1:vt_A
for jj=1:vt B
w=[w,[1 ((AG,: j)+BC,: ) K)*xe) (AC,: D)+BCLji*K)*xe gf:,:,n-5)]>=0];
end
end
%
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=0];
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=0];
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%
solvesdp(w,al); % Solve al
al=double(al);
AL(i,1)=al; % Collect al to matrix AL
K=al*k(:,:,n-5)+(1-al)*k(:,;,n-4); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(:,;,n-5);
al=1;
end
elseif xe™inv(q(:,:,n-6))*xe<=1,
if o(3)==1 % Check ability in iteration between ellipsoid
% Declare variables
al=sdpvar(1,1);
K=al*k(;,;,n-6)+(1-al)*k(:,;,n-5);
%
w=[];
% Constraint of al
w=[w,al>=0];
w=[w,al<=1];
% Constraint to guarantee robust stability
for j=1:vt A
for jj=1:vt B
w=[w,[1 ((AG,: B, iKY *xe)' s (AG,: 4B, i) *K)*xe o:,:,n-6)]1>=0];
end
end
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=0];
w=[w,[Ub(2)A2 (K(2,)*xe):K(2,)*xe 1]>=0];
%
solvesdp(w,al); % Solve al
al=double(al);
AL(i,1)=al; % Collect al to matrix AL
K=al*k(;,:,n-6)+(1-al)*k(:,;,n-5); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(:,:;,n-6);
al=1;

end



elseif xe™inv(q(:,:,n-7))*xe<=1;

if o(2)==1 % Check ability in iteration between ellipsoid

% Declare variables
al=sdpvar(1,1);
K=al*k(:,;,n-7)+(1-al*k(:,:,n-6);
%

w=[];

% Constraint of al

w=[w,al>=0];

w=[w,al<=1];

% Constraint to guarantee robust stability

w=[w,[1 ((AG,:))+BC,: i K)*xe) (AC, D4BC, L) *K)*xe g(:,:,n-7)1>=0];

for j=1:vt A
for jj=1:vt B
end

end

% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=01;
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=0];
%
solvesdp(w,al); % Solve al
al=double(al);
AL(i,1)=al; % Collect al to matrix AL

K=al*k(;,:,n-7)+(1-al)*k(:,;,n-6); % Output feedback gain

else
%No ability in iteration between ellipsoid
K=k(:,:;,n-7);
al=1;

end

elseif xe™inv(q(:,:,n-8))*xe<=1;

if o(1)==1 % Check ability in iteration between ellipsoid

% Declare varialble
al=sdpvar(1,1);
K=al*k(:,;,n-8)+(1-al)*k(:,:,n-7);
%

w=[;

% Constraint of al

w=[w,al>=0];

w=[w,al<=1];

%
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% Constraint to guarantee robust stability
forj=1:vt A
for ji=1:vt B
w=w,[1 (AG,:D)+BG,:j)*K)*xe) (A, +BG,:j)*K)*xe of:,:,n-8)]1>=0];
end
end
% Input constraint
w=[w,[Ub(1)A2 (K(1,:)*xe);K(1,:)*xe 1]>=0];
w=[w,[Ub(2)A2 (K(2,:)*xe);K(2,:)*xe 1]>=0];
%
solvesdp(w,al); % Solve al
al=double(al);
AL(,1)=al; % Collect al to matrix AL
K=al*k(:,;,n-8)+(1-al)*k(:,;,n-7); % Output feedback gain
else
%No ability in iteration between ellipsoid
K=k(;,:,n-8);
al=1;
end
end
ul=K(1,:*xe; %Deviation of inputl from steady state (V)
u2=K(2,:*xe; %Deviation of input2 from steady state (V)

end

save('Find K by interpolation','ul’,u2")
st=1;

%% While loop to check sampling time (dt=12s)
st=1; % Initial command to start while loop
while st
tf=clock; % Time duration sampling time ,
% tt is initial time duration sampling time
if (ti(d)*3600+tf(5)*60+tf(6)>=tt(4)*3600+tt(5)*60+tt(6)+dt) % (Time duration sampling time)-(Initial
time duration sampling time) is 12 so sampling time=12
run=1 % Start sample data at next iteration
st=0 % Command to stop this while loop
else
st=1
end

end
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%% output variable collection
y=C*x;
for j=1:ny
output(ij)=y(j);
end
%% Estimated state variable collection (1 row is 1 iteration)
estate(i,1)=xe(1);
estate(i,2)=xe(2);
estate(i,3)=xe(3);
estate(i,d)=xe(4);
%% Input variables collection (1 row is 1 iteration)
input(i,1)=ul;
input(i,2)=u2;
%% Find estimated state at i+1
y=c;
xe=Ass*xe+Bss*K*xe+Lp*(y-c*xe); %xe(i+1)
%% Convert input signal(0-5V) to computer signal(0-255)
inputl signal=(u1+1.96)%(255/5);
input2_signal=(u2+1.96)*(255/5);
% find flow14 set point
if inputl_signal==95
f15=9.69;
elseif inputl_signal<=96
% At inputl signal=96 flow rate of pumpl =9.86
rt=inputl signal-95;
f1s=rt*(9.86-9.69)+9.69;
elseif inputl_signal<=97
% At inputl signal=97 flow rate of pumpl =10.28
rt=inputl_signal-96;
f1s=rt*(10.28-9.86)+9.86;
elseif inputl_signal<=98
% At inputl signal=98 flow rate of pumpl =10.8
rt=inputl_signal-97;
f1s=rt*(10.8-10.28)+10.28;
elseif inputl_signal<=99
% At inputl signal=99 flow rate of pumpl =11.37
rt=inputl_signal-98;
fls=rt*(11.37-10.8)+10.8;
elseif inputl_signal<=100
% At inputl signal=100 flow rate of pumpl =11.79
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rt=inputl_signal-99;
fls=rt*(11.79-11.37)+11.37;
elseif inputl signal<=101
% At inputl_signal=101 flow rate of pumpl =12.12
rt=inputl_signal-100;
fls=rt*(12.12-11.79)+11.79;
elseif inputl_signal<=102
% At inputl signal=102 flow rate of pumpl =12.63
rt=inputl_signal-101;
fls=rt*(12.63-12.12)+12.12;
elseif inputl signal<=103
% At inputl signal=103 flow rate of pumpl =12.93
rt=inputl_signal-102;
fls=rt*(12.93-12.12)+12.12;
elseif inputl signal<=104
% At inputl signal=104 flow rate of pumpl =13.93
rt=inputl_signal-103;
fls=rt*(13.42-12.93)+12.93;
else
% At inputl signal=104 flow rate of pumpl =13.93
rt=inputl_signal-104;
fls=rt*(13.93-13.42)+13.42;
end

% find flow23 set point

if input2_signal<=95
f25=6.75;

elseif input2_signal<=96
% At input2_signal=96 flow rate of pump2 =7.62
rt=input2_signal-95;
f25=rt*(7.62-6.75)+6.75;

elseif input2_signal<=97
% At input2_signal=97 flow rate of pump2 =8.42
rt=input2_signal-96;
f2s=rt*(8.42-7.62)+7.62,

elseif input2_signal<=98
% At input2_signal=98 flow rate of pump2 =9.27
rt=input2_signal-97;
f2s=rt*(9.27-8.42)+8.42,



%%

save(flow setpoint',f1s',f2s) % save flow setpoint to flow setpoint.mat

fls
f2s

%% Stop calculation when i=number round of iteration

elseif input2_signal<=99

% At input2_signal=99 flow rate of pump2 =9.91

rt=input2_signal-98;
f25=rt*(9.91-9.27)+9.27;
elseif input2_signal<=100

% At input2_signal=100 flow rate of pump2 =10.66

rt=input2_signal-99;
f25=rt*(10.66-9.91)+9.91;
elseif input2_signal<=101

% At input2_signal=101 flow rate of pump2 =11.36

rt=input2_signal-100;
f2s=rt*(11.36-10.66)+10.66;
elseif input2_signal<=102

% At input2_signal=102 flow rate of pump2 =11.98

rt=input2_signal-101;
f2s=rt*(11.98-11.36)+11.36;
elseif input2_signal<=103

% At input2_signal=103 flow rate of pump2 =12.66

rt=input2_signal-102;
f2s=rt*(12.66-11.98)+11.98;
elseif input2_signal<=104

% At input2_signal=104 flow rate of pump2 =13.3

rt=input2_signal-103;
f25=rt*(13.3-12.66)+12.66;
else

% At input2_signal=104 flow rate of pump2 =13.91

rt=input2_signal-104;
f25=rt*(13.91-13.3)+13.3;

end

if ==l

run=0;

end
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%%
save('Find_K by interpolation_run',run"); % Stop calculation when i=number round of iteration

end

%Save variables to excel file to plot graphs with SigmaPlot program
xlswrite('non_minimumphase.xls'input(1:35,1),1,'B48")
xlswrite('non_minimumphase.xls'input(1:35,2),1,'C48")
xlswrite('non_minimumphase.xls',output(1:35,1),1,'D48")
xlswrite('non_minimumphase.xls',output(1:35,2),1,'E48")
xlswrite('non_minimumphase.xls',output(1:35,3),1,'F48')
xlswrite('non_minimumphase.xls',output(1:35,4),1,'G48")
xlswrite('non_minimumphase.xls',estate(1:35,1),1,'H48)
xlswrite('non_minimumphase.xls'estate(1:35,2),1,148")
xlswrite('non_minimumphase.xls' estate(1:35,3),1,148)
xlswrite('non_minimumphase.xls'estate(1:35,4),1,'K48")
%
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